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STAL A0l ARH = SHZHOZ LIEHHL,

"as soon as+3F0{+SAly: - SIXIOLRY
(— onlupon] v-ing)

cannot help v-ing: 5| &4 2= giCt
(= "cannot (help) but+SAHE))



16
17

18

19

20

21

22

CED agree with ..ol S2l5ICH opinion @ 2174, 7454
® be used to v-ing: -5t 2ol 2U=3iCk
® QjOly F0l= SHAL A0l AR
7IX|H SHALR| AMZH 22| AMECH AMEE
etzsSE(having been v-ed)E £Lt,
criticize ® HIE5iCH
S| AX7H 2E| AMECH AMERE 2BS
v-ed)E #ct
XA with)2l SR0IZE SHAE MM, SHALS| 2|04 =04
= SYAL ol ARZO|LE EXZOZ LIEHACE SHALS| BF
2 SHAL 20l notOILt nevers #£LCt.
£S5 X2 7HKIH SYA| AXIZH 2EQ| AMECH FMEE
etz2SEl(having been v-ed)S £ct,
CED overwork ® mtZ3ICt SAfSICH
D& 2 HoZ2 M2l SHAL LIHX|= SXE MOl SHAL
olct.
T RS B 22 JoitZ|chek=s Q|o|7t =lofof

XHAZRER forget to-vE €Lt sending — to send
© F0{Z MOl SHATLE T FZSIC are — s
© SAlavoide SHNOIZ SHAIS 220t
to meet —

+3 =2

FAKhaving

20

meeting

CHAPTER

& =2A

A

1 0|

Sam2
2 Green MI=

Jus 1 gEs W

(B)

1

= 0PI/ &A

72H0ILt SEXZoZ LIEHT,

pp.32-33

AHE$ a2 %U |ZIEISIT,

Y2 otz

X710l 2ot U= X7t KellyQl EHRIZIS0 Tt

2 OfZI0S0| 2ot =
L=

E 7|‘X|_|_l =1 MMEI'

Ju7F g S0l 1 U= RS E/UCL

@ Grammar UP
Lie| 1tst Al Fap= AUARRICE

=
LH= Lbo] mfst AR 0] A3t

13 20

1 FolA AKbooks)E 4
o2 IHEAL
2 Z0{(The food)7t 2

r

Alstn ‘Meroj2ks 52 K& UE

PRACTICE TEST

A 1 hidden 2 waving 3 smiling 4 called
5 moved

B 1 surprised, surprising
2 interesting, interested
3 exciting, excited

C 1 made 2standing 3sent 4 tested
5 bored

HE0| ‘&A% Ao|=
AL A2 SET UE AWO0|22 SHEASS - TIR)
OF717} ‘Dl AI Y= A0|22 SXEASS - TIEY)
19| 0|20| ‘B2l A0|2 2 HHEASS)

Z0| MaryZt Z™8g 7|

cn-hoow—t;,
0
_E:
X
I';-|>E
&

o7t ZA™E L7122 IAHRA

0l(The results)7t ZHg Y27|22 HRHEA
Of(to learn Olah7t ZEE Uo7 |22 HIRHEA
(She)7t ZXE 7|22 p{=AL

Of(the film)7t Z&g Lo7|22 STHEAL
o7t ™S 7122 IHARA

S e B I
o P

SUE7HEES0E A0|22 HAHRASS)
A7HM U= H0I1EZ FMBASS - TIR)
MX|7F 2LHZEI 740|122 HHEASS)

0| ‘HAIEE 0|22 HARASS)
Z0{(They)7t 282 =722 IAZAL

a b~ OND=nNn

0%
o
na
on
nx

pp.34-35



—

Eoll S0iZ42 W R2l= 010IS0| |IB0lM FIOICH= A2IE =
ACt,
2 Ken2 19l &2 %%EM 72401%,\*'1}

11 7|xk= BAlofl MES T
3 AH0IW7| 2ol 2=
2|01 71H U=
oF F=tteol H 2ol

HE HX| R3ACL

[
EI

S
ok

_E

(81

1 O|RE LiEtH=E EANLE
2 SAISEHE UEihs 2ARE

PRACTICE TEST

A 1 Sitting 2 Being 3 Jogging 4 Joining
B 1 Forgetting the password

2 Although looking weak

3 taking a memo
C 1 Seeing Juliet

2 Arriving at the store[shop]

3 Searching the Internet 4 Being

5 Though[Although] explaining

BecauselAs/Sincel it is slow, ....

When/As/While /After / As soon as he jogged along
the street, ....

4 If you join this club, ....

w N =

B

1 O|RE LiEtHE EANE

2 YEE LIEE BARE2 YEHez MEAME EH &
3 SAISEES UEiE BARE

C

1-2 ME UEll= BARE
3 =S LEE EARE

10

When/As/While/After/As soon as | sat on the sofa, ....

4 O|RE UEH= BARE
5 YEE LIE=E EARE

m 3 EARE ST AN, SE
A

0FM = Y AlZtoll SUC

pp.36 - 37

Ju9| == S0tk W Lis LT LIS At e & 4
Q\C}
B0l HRUY| w20l Jll= of Ol 1 M| fiCt

L &2 E%7| th=oll L= ._Xﬂ%XI LS =2 4 UCh

(C)

1 220 Hol=E QLRI I J= 2AHS

= Lo M= =
o

2 LTI XiR7| 20 2= s H &

N

HOF &tx| 22t}
fCh.

OII

roh

Hi7F 27| 2ol L= B7F S Ak

10 20

1 RARS AXIZE =] AlXEDH 24 I 212 2AMTE(having
v-ed)2 &

2 BEAFEL +SE(being / having been v-ed)dIA beingO|Lt
having beeng ‘dzfgt = JU0IA IAHAZAIRL S
(— Being interested in history, ....)
CED historical @ At

PRACTICE TEST

A 1 Written 2 Not having 3 Excited
4 Having seen 5 Fired
B 1 (Being) Used well, the new technique can be

very useful.

2 Having lived in a big city, she knows little about
country life.

3 (Having been) Robbed before, | always lock the
door.

4 Having lost my cell phone, | can’t call her now.
C 1 Surprised at 2 Not paying attention
3 Having read 4 having been invited




1 HAPHO| M2kEl 201 the book0| BO{Z ‘MOl Zio|= 2 2AL
T29| £=El(being /having been v-ed)E &. beingO|Lt
having been2 d2f 7t

2 EANFRC 2HE 2AF A0l notOILt neverg &

3 EAREQ| MaEFEl 0 Mark7t ‘ALt 20|22 BAILES| ~SEY
(oeing v-ed)E &. being2 M2k 7ts

4 SAPEQ| AM7E | AMECH M o &2 EANLE(having
v-ed)2 &

5 RAPHO| M2kEl 0] he7t SHE" 0|1, EARES AXZL 3=
Ho| AIMECt AMDZ BAIRLZO| 22 4ZE(having been
v-ed)E . having been2 & 7ts

BEATEC| teSE: (being) v-ed
, 4 ¥= 2ANLE having v-ed
BAREQ| 2=24FEl: (having been) v-ed

w N =

m 4  FOolorE 2AIE

2 20 B2
7] 2oy
3 1) L= dI7H L 0l N Qs R=E ol BEE 474 gk

2) Jessicas 49| Ci2|S & xf 30} UL,

4l glofl SAIS 715 €2 & Lsix| otk

1 ot R= OISCH2 E2IAS Y2 A oo ST

Jud= ae| o7 |E Fofl 22 A @HE 7ICHC
M Ul g2 S2ICk

5ilAf et=01= HiR7| EX] BTk

ne
=
12
L‘ﬁ
1=} x

1 2AFEO| F0{(BI2IF F0f it7} T Foiwe)et CIZOE Bt
Ho| F0i2 EATRO| F0I2 47 5

2 BAlher musiclet AR] B SS0IS2 fwith + (T ZAH+
BIRYLAL: 0] ~Bt 3

PRACTICE TEST

A 1 Considering 2 closed 3 The lesson being
4 dancing 5 While

B 1 The sun setting 2 The traffic light turning green
3 It having rained heavily
4 There being a strong wind

C 1 with the cat sleeping 2 with the sun hidden
3 with his head buried

A

1 2WAHT9| LI0|E 1EHH0| XIHAZREZ Considering

2 HAKhis eyes)2t 2ALS| A £E0(22 Twith +(CHHAH
DAL

3 EAFEQ| F0{(The lesson)7t F&2| F0{(we)2t 222 2A

HO| FOIE EMTEC FOR HH &
4 E':i' Kmy friends)2t 2ALS| ZA7t SS0|22 "with +(CH)BAH

B

EAPEQ| F0{7t FEIO| F0{2t CIE [ EARES| FOIE 2AMES)

FozdAE

3 EAPES| AM7E FE| AMECE YMEE 2tE 2AR(having
v-ed)E &

C
with +(CHEAH-EAL TE2 SAISES LEN 1) A=, (CHEA
o ZAte| 2AI7H SSOIH HIHZALE, #S0|H UHEAE &

REVIEW TEST pp.40- 42

01® 02® 03® 04@ 05 satisfying
06 We felt excited when the player hit a home run.
07 Having read the same book several times 08 Not
having heard anything about the new teacher
09 The elevator’s doors being nearly closed 10 ®
11 @ 12 with birds flying 13 with the TV turned
on 14® 15@ 16 As he read the last page of the
book 17 If you open the box 18 and served her
some tea 19 Because[As/ Since] | had been inspired
by Picasso 20 ® 21 Not having taken a break
22 when talking to 23 The dog barking

01 oM HAHvegetables)g sAlst ‘Zeizlolzle 82 5
0|22 IHEAE 2Lt
D local @ X9

02 UWE LEH= BAE < When/As/After/As soon as/
While she entered the room, ....



03 A A7t 7<"*°I ANEC AMEE 27 EANE 21 &= BAES| 2% not/never having v-ed
(having v-ed)g #C — Because[As/Since] she hadn’t taken a break, ....

|_
o x|o
== SEl

€D stuck ® 23, 2X/Y 4 gt= 22 2ATEO| X2 HEs| 517] ol &AL wheng IR = 4
04 Not knowing what to doZ £ = QICh EAFES| B2 QUL
£AL 0 NotO|Lt nevers 2Lt — ... when you talk to elderly people.
— Because[As/Since] he didn’t know what to do, .... 23 FHO| 30()2t RFAFHS| F0{(The dog)7t HHEEEE £APES
bite ® S0t=ct TOIE BAMES| 02 EH ELCL
05 ZX0i(her new job)7t Z™S Lo7|D2 SIREAL — Becausel[As/Since] the dog barked at me, ....

06 Fo(We)7t Zl™g |22 SiRiEAKexciting)7t OtL|2t
H2AHexcited)7} =l0{of St
EED excite ® 40| LEA| 5Lt hit a home run E2g X|ct

07 SAES AM7E FEO| AMELE YMEE 2tz EAFE
(having v-ed)2 £LCt

08 &= 2BAEEC 23 not/never having v-ed
€D curious @ 338 27|80l 2

09 EAEe| F0{(the elevator’'s doors)7t 2| F0{(@a man) CHAPTER
ot Ct2o= BAES| FOE BAES| 0|2 g7 ELCL

CED nearly ® 719 @ Alx‘“

10  ® Roughly speaking (THZ ZotAtH) — Frankly

speaking
CED reject ® HESITH  personality @ &2 m 1 six2t=
promote @ &ZIAI7|Ct pp.4é - 45
11 @ B 2AFFR0| M01 Z{o 2 Hof, EARE L 9| AlX| Q
(can’t afford)7t Z282 SIHAIMIE £Lt

1 UE 13 5212 23s

ro

= =2 X0l glch

didn’t — don’t 2 52 5030| =5 Z=5t MEfo|C,
€D afford ® (-2 &) ARFEPt =ict m 2a|= 2006EEE RITHC}
12 SHAHbirds)2t EAte] 2A7HSBOIDR fwith +(CH2iAH+ BiRY onl g Zot Ameict

AL 0] ~EE R

13 BAKthe TV)2t 2ALS| A7} 50122 fwith +(CHZAH 2t
Ak 0] ~E A

14 ® 29 0P8 AM'ehs $52| 50|22 THRAE 20t
causing — caused
€D increase © 3715t

15 O BAHE BecauselAs/Since] she was angrys 2AHt

3 = 2 {70l SORtC.
L= 0] FYel S OoHRLE (L= XIg 2RE 71X UK
24t

G0 1 01242 ofd| Bt

I

2o= HiR 222 BeingO| MAsiC}. L= O0/=0l| & # 7+ 2 =o| QICh
Be — Being J= oj=oll 7HRCL (3= XIZ o47[ofl Sict)
comb ®4! scenery ® &, 24
16 SAISHS LiEiis 2A7E (B
17  ZRUE LEE 2ARE L= 350 28 u&S 9 ot
18 ASHES LiEH=E BAE (— Lh= 33 Toll 2 m&S 9| AR L= oXls| 24 u&
serve @ (S418) MBStk LHC = | Qo)

19 O|RE LIEM HE EANLES| 2ESE
inspire g ot

20 @ ArRHoO| 2 oHXIE 0|22 IHEASS)E 20t
painting — painted

@ BAES 2
Hearing not — Not hearing
CED delivery & HIEH(E) nervously ® ==5H|

1 A&S LEE stz
2 have gone to: -0l 7t (XIZ 0471of]) Sict

12



PRACTICE TEST

A 1went 2for 3visited 4 has been doing
5 has been
B 1 has been to
2 has forgotten
3 have been watching
C 1 U= HofLt 234F2F JamesE 0f L7
(= U= JamesE Qt X| HOkLt KALI?)
2 1 3|Ak= olo| CHfst AESS EARICL
3 Li= ATHA HA|Z SAIS 5t Hol 2 X0| iCk
4 J= 27 22{KM AFIE Bt Z 4= gich

5 Emmaz= & AlZt 82t Keving 7|ct] @11 ot

1,3 HU5HH 2AHE LEHEE (a week ago/last weekend)
(o] %E IHHAIA|

,
et

N
i)
(@]
-
+
N
™
E

4 TS AZE)O) SRIE AISIEHA SRHOIE EIg F0|D2 SHx
o1z ZI: o o1 Ik
5 7143 LIEfH= SHRIE: (RIZ7HR| 712) ~of ik

have been to: -0l 7t 2 X0| Uct

ZutE LIEH = SixiE: - SHHRICH (T2hA XIZ2 ~olch)
THA(EE AIZE )0l BetE 27| ARBHA Sixfoll= 218 0|2
Sixftz 21

Ww NN =

=

0

AES LEE Sixfetz
2A2E LIEHHE= Sixietz
= SrftE
ZuE LEE sixfetz

a D ON =N
o
0o
o
L L CC
m
=
I

J= EREZ 27| Hoil 2 =Alof 2F 2 Ho| §F HE UL
Noah= ZFXI7} &|7| Tof| S M-RARACL

LH7t &fmof =ARBEE mff AIZo] ofo| I’i.* AL

O= s O HEHM 5712 & o L

L= OJTHLIZE LIOfIA] At =8 T XIS S40IHRCE

[Zh St SEst AAUCL

ci".é-_*%ILE':c’ 7|"101| 3 S a8 Fu UAC

Lio|H 22l= of7|of LM U & X0
Ltz D=z mutr| Holl JoiE =i & Zo|ct

AvaZ 240l =2 I = AR O 261 U= Al & ROl

=S
- MIL—
U7k 20l 2 W Lt 2412t SOt 2a(5kn 9= 7 B Zolct.

1@ 20

1 ZS LE= 2tz
2 Dol EF AR 2=E LS LiE= DIz

PRACTICE TEST

A 1 will have gotten 2 had taken
3 had been sleeping 4 had met
5 will have been
B 1 had gone 2 Had
3 had posted EE= had been posting
4 will have finished 5 had slept
C 1 had been watching 2 will have lived
3 had left 4 will have been crying 5 had lost

1 02 £ AIFEEYE i) ol 22E LS LHEIISZ o2tz

2 BenoO| HEOHRE 1pA AIFEL FAIS FJAE X0| o 01X
20|22 CiztA

3 IAE A2IE SUS M= AL X2 AASLEZ B7{RiE TS

4 LisaZt 7|94 pA AEEL T2 s BHE 240[ ©f 0
Tio| Yo|= 2 tHubA

5 022 £ AIF(UHY)o= T S5 oIS njahRtz TS

B

1 ZoE LiEE 1tz

2 ZEs L= otz

3 RS LE=E IARE E= 2 0Tofl ARE L(MAIXIE Al
Alst= Z0)0] ZA(LI7} Eoil Sokts o= X3 Z0IASS L
Eti= a2tz T

4 Djziel EF AE(CHE F)oll 2=2E Y2 LEIEEZ o2tz

5 &S LIt otz

0x
i
Pl
glzl
nx
-
w



C Eti= Sixfetzolct

1 etz XSS microwave oven FX|QIX|

2 njgjeta 16 have gone to: 0l 7k (XIZ 0{7]of)) it
3 HatA D coworker @ &7l Yat= AR, 2

4 OjietE REHs 17 @ A2 UEtls A=

5 ZDZ LIEH= oietE has been — had been

take off (HI247|7}) O|S3tCt
18 @ DJ2He| EX AlE(hext Saturday)oll 2I2E Lo|=2 0|2y

otz Mot
REVIEW TEST pp.48 - 50 ® since= 7I1&E ATt il 2L,

© A&S UEE ai{2t=

01@ 026 03@ 04 have known 05 had never €D retire ® S=3ict
played 06 @ @ 07 @ 08 @ 09 @ 10 @ 11 has 19 @ oj2Hel EH APS(neX’[ year)77f7(| ASE Uo|=Z o=
ended, ended 12 has taken, will have taken 13 had 20
played 14 has been painting 15 @ 16 My coworker has been — will have been
has gone to Rome. 17@® 18® 19@ 20| will have © 271 OFEIOH| APl 20| IA7IX] ALERNSBE Mt
been traveling around Europe 21 The magic show (%) = a2 TS 2o
had already finished has been standing — had stood/had been standing
D admit @ 2IE5ICt stand in line &2 ACt
01 since( OZHE")7t A1 Tp7{0f| Lot Uo| HRIIX| BEksS 20 0l2ie] EH Al™(next Monday)ol= T3 S 20|22 o4
DIX|22 SxHAR(AIL)E £Lt 2= TIAAHS 20t
EED motion picture ¥t (ZE) 21 &=EE LIEfE s
02 Ol2ie] E5 AE(OH F2ol| =2 U022 D[HARE AL magic show Ok & student hall MY 3|2

03 2=E LEil= J'-'M%FE
€ED travel ® of&isick *olS3lct

04  A&S LEU= Stz

05 Zels UEli= 1=z

06 ZZt 7SS UEL= SR, o2tz TRl 282, for,
since &2/ of71et &l F2 2Lt yesterday, last, ago S CHAPTER
1 Zo| FHiSHA| MAHE LEtL= 20 8Hl MX| oh=C
CED pour @ (HI71) Ot Z0x|ct

07 kAol AIRHEl ol Bixfolle T EY of Sixfetz TS
2t
08 =2 1 AL AIS AE 20| § 0|72 Yo|=2 chubA 1 can.must, should/ ought to, may, need
£ 2Lk i i pp.52-53
2D poem @ (3t T Al 1 2= ZHANE =02 HAT 4 Ut
09 ZHS Ueils 122 XS APEF2E Lok= 27127
I abroad @ aHel=[ol] X A2 Tom 2|7} gict. 2= sHuictoll 7k gict,
10 IARE ST AL el Lo|22 AR (AIL)E 2LCt. (D a4d= Udol 23 4 US Zolct,
HUHS 712 LIEILH= 2 0| o2 TIHAIX _
11 :MoEMI IHE LiEt= Ylast week)o| U2EZ THAK| o Zol2 HE=S 9lofof Btk
€ =t J= HHEIM2 SAH 2F 20i m=et 20| SZeict
€ annual ® oiiEe], Hafo|
12 Dj2fe] 7 Alxloll 22 U LElo= DRRRE Lot WD U= 913 30 MaiS Argais of et
13 ARIS 8 2] AIEC 575 #E 20| o 07| Uoj=2 He o] 2M2 & 2Tt girt
CHotAS £t 3 U= o8 e AMES shok Stk
14 ZhAof AIEfBHAM Bxtol= 218 S2l Yo|=2 Stz T H= 0l 71315 XM= oF Elch
S 2ch 4 U= 7A 0|%0f= OFF Lt of7|ofl o= ZCt,
15 E7|t D2 48 0= &8, @t @ AL, @= ZUE Lt 742 ANAYUX|E, ARAO| OlEX|E BEC,

14



5 17t EQU| yg e
U hY AE Lo

EXE) = Lol Alntet Zeoteict

@

fcan’t{cannot]+ SAHES,: & 4 giot (53 -7ts)

PRACTICE TEST

A 1Dbeableto 2oughtnotto 3 don’t have to
4 may 5 must
B 1hasto 2 May
C 1 can’t[cannot] be 2 may not come
3 must/should be careful
4 must/should not judge
5 don’t have[need] to turn down
6 must be 7 need not hurry

A

1 S 0S| ZSAE & £ & 222 can A be able toE &
2 ought to2| £4&: ought not to

3 2ERE LIEHH= don’t have to

4 o5t Z=Z LIEHHE may

5 &gt FES LiEHH= must

B

1 2FE LiEtE musts have tolhas to]2 HHY £ 2 US

2 5{7& LEt= canat may

C

1 can’t[oannot]' L 27helct (B £5)

2 may: YUK DEC} (A5 EE)

3 must/should: *--3H0F BtV (2]F)

4 must not(&st ZXI)/should not: "--sliAl= 2t =ct

5 don’t have[need] to: & ER7} gict (BEER)

6 must: o] S-GCE (Y F5)

7 need not: & ZI} it (EER) (= don’t have[need] to)

pp.54-55
1 UHe 9 Alzholl 2| 2| 1 2718 sh= Al EAC
O1FRIX|7| Zol| Zlofl =&fetn HOHH He MF2= Al ZCh

2= Yol thAl= =X 2= A 2

Li= Zoil HR2= #Ho| W

ct,
o 42 E

2 H|7t 27| A=kt
Li= 21 AAK

Rl
52
rir
e
o
e
3
]

@) L= AYS steL xi2tel 252 SRICH
L= Q0] Li2] £2 MLL| Rt2ta] SAl0f MLt

3 L= 71& Jacobit XEHE Efg| 7k FiCh
22| 7152 Yot Ok E sk FiCt
4 Lt= FLoict S42 7k 3ich
Bellaz 1147} 0l0|¥g W AEIZEAS LACE
L= HalXo 2 RE6HK| EUARACE
G50 L= Lol 2imsat Lio] ol| sl olof7 [sH2 k.
22| & Foll= 7H|7t St UACE

10 20

1 "had better+SAFREH,: -5k Al EZIck (Zst S0t #D)
decision @ Z%, ZA
2 used to: “-5k2 L (12| &)

PRACTICE TEST

A 1 had better 2rather 3 usedto 4 than

5 had better not
B 1 had better 2 usedto 3 would rather 4 would
C 1 used to like

2 rather not go

3 would play board games

4 would rather quit than

5 had better not tell

had better: *--5k= 7l EZCt (Z§t S0t #1)
would rather: (xt2t2]) --st= Ho| Rtk (M%)
used to: “-OIUCE (22 AEH)

would rather A than B: ‘Bst=L| Xt2t2| AstZct
had bettere| £7&: had better not

L N N

had better not: “-stX| k= Al EZCY

used to: “-OIACE (22| AEH)

would rather A than B: ‘Bat=L| X2t2| AsICY
St gict (142l &2

A ON =2

would: -

N N

would rather?| £4&: would rather not

He e 15



m 3  Z=EAh+havev-ed

pp.56 - 57
1 MarieE T1142| BI37|2 SAC) JU= 4A31S0| S2RIC,
J= WA AXEE 30| E2Qitt O= W =2 Al TiRict
2 L eS40] 131 of2i2 Mg 9IS 2| gict,
David7t LIE 20gtE 2| SiCt Lh= 715E M1 QUACE
3 1 ZME= 83t U= RHofok =t
Li= 111 0f2|M2 Al 5Hx] 2lofo Si=d
4 EricS & SAlg 91 2ES AYSK|E BaC}
Li= Wi E215 22 4 Sl L= ONES W Xl 12 SR =

1@ 206G

1 should have v-ed: “---g{0{0} =0 (GHX| L/UCH’
2 may[might] have v-ed: - &#2X|= ZELC}

PRACTICE TEST

A 1should 2may 3can't 4 must
B 1 must — should
2 could — may[might]
3 should — can’t
4 may — must
C 1 should have taken
2 shouldn’t have asked
3 can’t have forgotten
4 may[might] have broken
5 must have taken
6 could have answered

should have v-ed: '---§ﬂ010F gH=r| (SEX| LUCH

can’'t have v-ed: "
must have v-ed:

N
3
Q
P =
3
«Q
=
-0
%
D
<
CD
Q
;OI
mjo
Rl
H
o
il
n

N O

should not have v-ed: *---8tX| Zt0{0F g=0 (JHCh’
6 could have v-ed: g & AT

-

16

08 should have v-ed: “--30{0

REVIEW TEST pp.58- 60

01® 02@ 03@ 04 don’t havelneed] to 05 @
06 ® 07 can’tfcannot] be 08 should have checked
09usedto 10® 11® 12®@ 13® 141)had
better go to bed earlier 2) may get cold in the evening
3) can’t prepare dinner formyself 15@® 16 ® 17 @,
@ 18 You had better not go there alone. 19 should,
must 20 have to, must 21 may, should 22 @ 23
would rather drink water than 24 may[might] have
watched 25 should have helped 26 could have been

01 & 2 YUCE 7L RAIHAREZ couldn’tE 2Lt

CED break down 1% LiCt

02 YUK BECH} AIARIPOR Ot S5 et ZSAF

mayS 2t
CED weird @ 0O|Ast

03 @ She must have passed it.2Z & 4= QIC}.

must have v-ed: " 20| SZIICY (27A2] Lol gt Zet

Q

riving test 221851 AI@  recently ® |20

04 BWAN...2 M ZQY} QICFEk=s 0|22 don’t have[need]

05 shoulde 2%, E1E LIEH= 2SAIE, ought toZ HHY

&4 9t

06 cano| & & ACtet= %2 53 - 752 UEME If be able
/\ o

toZ HHH &
D communicate with -2t S|AtASSICt

oIC}

07 - 2Pt eittels 2ol B £52 LIEM ti= can’tjcannot]

£ #rt

be satisfied with --0fl ZtE3ICH current @ $ixH2], X122
F&i=dl (GER| 2ATh (2712

oi| st F3Lt )

CED ruin ® YYo= prert

09 79| &2 LIEHS mh= used tolt wouldE £Lt,
10 @ ot7HQ| HEHE LIEM M= used toS 220t

would — used to
CED dive ©® 422 HOISCH temple @ AR, &
suspect @ &2[xt

11 FHUSHA HE LEH= Llyesterday)ol JBE Z=E

At muste| 242! had toE M7{LE mt7{e] Yol chet Zet
FZE LIEHH= must have v-edE #Ct

must — had to &= must have left

2D respect ©® ZZ5iCE *ESsICt

12 must: o] SEIQICt (Zet F5); "ok gt (2R

CED cancel ® FAsiCH stranger @ £ ARt

13 used to: “--ohz MY (A2 &2 - 0IAC (B2 AEH)



14 1) had better: "--st= Al £74Ck (Zst Z1Lt #D)
2) may: - UX|= BELF (2f5t £X)
3) can’t[cannot]: g £ SlCt (58 7ts)

15 must have v-ed: “-&i20| SEIQICE (@tA2] Lof| Cist 25t
F5)
CED staff @ =¥ exhausted ® I

16 T2l ZSAME &Ml £ 4 91222 must 4l have toE
2L,
CED meet ® BILICE O 7Tt

17 @ can’t have v-ed: &2 2| giCt (272l Yol chst Zst
ol4)) — Davide 1 =2 &3S 2| gict
@ don’t have[need] to: & 7} QICt (BER) — U=
X BXIE A LRI} glct

18 had better not: *--5tX| &= 7| EHCk

19 must have v-ed: “-3#=50| SZICH (22| Yol chst Zst
F5)

20 must: 20| SUCY (Lt £F)
CED sold out (8710]) CF 22, DHZIE

21 should have v-ed: --310{0F =l (GHX| LUCH (2742
of chst 3Lt {)
CED concentrate ® XS5t

22 ® ought to2l £H2 ought not toOIct.
ought to not — ought not to
© F 7He| =ZAIS &7 £ 2 91222 can it be able
toE 2L} will can — will be able to
€D challenge @ =%

23 would rather A than B: ‘Bt=L| x{2t2| ASICY

24 may[might] have v-ed: 342Xz ZE2C} (22| Yofl i
5k okt =)

25 should have v-ed: *--310{0f =l (GHX| 4UCH (24742
Uof chst 3L |)

26 could have v-ed: & & QALY (22l Lofl thst 7ts
oLt =3))

troublemaker & Z4312{7|, 2ot

CHAPTER

Q pp.62 - 63
1 207|= o 02 200 2fsh TRICE
gt o2l AF0| O E17|E TRUCH

(D =E Lol ZR7| Al2kEeh
Jack2 19| HOtE UL

(B

DAk ™ MAMCZ Algh=ct,
1 Ch2l= 20 Foll XIoFC

(C)

4 el of o 30LaiE xiue Zolct,
10kl o] BRHoRRE B2 AlIS WOt Sttt
2 olazsolefs $alelm ck

0l 717ll= =0l OfsHAE Al KIS T 4 ct,

o

A O N =

70l ofsh o] OFECH2 20| IR RL(?
(— 7t ol OfSCHz 2 ALY

2 ORSCHR 50| ‘B 4= Q=" 0|22 ZEAR| ~FSE:
FZ2SAH+be v-ed,

PRACTICE TEST

A 1 was written 2 happened 3 be fixed
4 has been 5 being 6 be achieved
B 1 The problem is being discussed by the managers.
2 | have not been told about the business trip by
my boss.
3 The errors must be corrected by the
programmers.
4 The main dish will be prepared by the chef.
C 1 hadto be canceled 2 is being washed
3 will be held 4 has been broken
5 should be returned 6 was bitten by

™ AM0| MOl ZH0|22 ~FEl

SM07t 2R Q= SAthappen +SEIZ MX| 45
2SAe| +=SEH: TASA+be v-ed,

MZ2 Ol0|E|0f7F FMIgHE! 0|22 &= +~SEH: have /had
been v-ed

o
2

N



5 ZI3S Skl "beSAt+being v-ed.
6 9| SHIt 'ZHE 20|22 nl2iAIM $~SEH: will be v-ed

pp.64 - 65

0|7} FORC.
— W 5t F0|7t 2 S50ll 2fsh Z20i|A| FoIRC
D Ltof oftiXl= Lioll7A| A RS St ch A ZAICH
— M ZFHZA Bt tH7F LS 2lsh Lol ot X|of| 2lsh 1
E|dCt

|
o T
LI
o
it
2
lo
=I|=|
OE
ro
on

2 1) 19 0|4z LIE #Ssh 2EACH
I

— L= 19| 0jAof

— Li= Lo MdEol ofsli & AlZtoll Z&3| sl2t= 2 =
ALk
ARE2 MAALINE el 7H lchet 271E & ot 822
ofZIct
— MAT|O}= Hoh 7He ficiet 2715 & et Hol2tn oA
Zct
2) Sues 27t F7t0ll M U= RE EUCL
— 7t 710l M U= 20| Sueod Slsl ERALCt
3) A== U7t I #ElE mEA ek
— L= 330 &fsl I #&lS mEA =IAC

€D sleeping bag &'

2 makeZt AISAIY [ SXZA HO{Z MOl SAFHHE2 +SEY
TH0IM toFEAIZ HiS
EED memorize ® 2L 7|A5iCtH

PRACTICE TEST

A 1surfing 2given 3to 4 popular 5to go

B 1 was brought a thick coat, was brought to me
2 was found sleeping on the couch
3 were allowed to come an hour later
4 was bought for the princess

C 1 was asked to donate 2 was heard speaking
3 was not shown to 4 were made to wear
5 was made for

18

1 XZSAR S5 B M0l SAHEFEES +SE SZ0IA SixH
AL toRHAIZ HHS

2 4¥A 2HO| FH=H01E F0|2 sl= £SE 2H0IM= 2ITS
0o ofl MXIAE MX| b5

3 4 2HO| MHEX0E F0I2 oh= HRE2| +SEi 2F0IAM
ZFH=X0] Aol TXIAFtoE &

4 CHEE 58Al 2xt0| 2M7 HOE £~SE) 2R 2 =

5 makeZt AIISAIY [ S HOZ MQI SAHAER =S =
HollM toFFAIRZ HE

B

1 SAFbring0l M9l 434 2 7R¥=ofel MRS Zt2tg
Z012 sh= 5 71X Fele| eVt 7S

2-3 HRE 534 239 =54 Hoj= #3t 2ol 12 =

4 SAbbuyZt M9l 434 2HS TEEHOfRE SSE) 20|
2 olH, ZHSH0] 2ol TR forE &

C

5 SAFmake7t 40l 434 22 XF2 0|t S5 20| T
012 stH, ZEI=Z0] 2ol TXIAL forg &

m 3 ZololoLE Skl

pp.66 - 67

1 3 L AIE Zajol 7|3,
U= 22 Sofzlofl 71lsks B BAlo] ILI?
(D o] =2Zol= 230 TtsoiXct

WS 9i71= 2 OHS0fEIC)

2 1= E2{0f olsh XIZXIZE CHRIX| e4Uct
1 ERi= 9] o] Qs BAIECE

S2 1 42lo| 22 Fojo} Bickn ZHEHCY,

— 11 E#0| 25 HolofF Tt (AS0l ofsh) ZE=IUCL

w
H

D 252 o] 23t Fapt ofolsoiAl Q17| et Ltct,
— 0| Bt5t F3k= ofo|SollA| 27| Uckn (TS0l 2aH)

LZOZICE,

10 20 3@

1 be covered with[in]: 2 B0{ UCl
€ED sidewalk ® 2, Ql=
2 SAFL| +SEl= SAE TRIE oiLte] SAIZ |0 FE
3 SX0{7t thatEQl SAt thinke thatEe| =01 +~SEf 2&2|



FOZ & mf that®2| SAIE toF™AIZ B
EED benefit @ 0I5, 5l

PRACTICE TEST

A 1with 2islookedupto 3tobe 4 was put off
5to
B 1 The tortoise was laughed at by
2 is thought that Sophie is a brilliant pianist (by
them), is thought to be a brilliant pianist (by them)
3 is believed that stress causes many health
problems (by people), is believed to cause many
health problems (by people)
C 1 was satisfied with 2 was surprised at
3 is interested in
4 are expected to participate in
5 were taken care of

A

1 be crowded with: -2 SH|c}

2,4 AT +SE= SA MAIE St SAIR |0 Fg

3 SE07t thatHQl SAt say= that®e| FOHE +SES| 0=
g thatH2| SAE toRHAIR HiE

5 be known to: -0l x|y

B

1 SAL +SEi= SAT THIE otLte| SAIR |0l =

2-3 FX0{7t thatH2! 2&2 7150 itS AEsIH Mt +besAt+
v-ed that .....o| ZEIZ £FJEHE T thinket believes
thatEe| F01E +SE 22| FO2 & 4= 2, ojnff thatX
O SAh= toRTYALZ HIE

be satisfied with: -0l 2EESICE
be surprised at: --0il S2tct

be interested in: -0l 20| Ut
SX0{7t thatZHe! 28| s~ZEl
SAL| +SEY

REVIEW TEST pp.68-70

01 @ 02@ 03 ® 04 have posted, have been
posted 05 is resembled by, resembles 06 ® 07 ®
08® 09® 10® 11 ® 12weresold 13to be

a b~ ODN =2 N”n

14 The subway was filled with passengers. 15 @, ®
16 @, @ 17 is covered with[in/by] snow 18 is made
of wood 19 ® 20 ® 21 was made to pay 22 is
being printed

01

02

03

04

05

06

07

08

09

10

11

12

13

14

ZHe| th20| ‘F7l Z0|22 +SEl(TbeSAt+v-edl)E £CL.
gate ® 2 lock ® &Ict
2= +SE: have /had been v-ed
CED site @ AR, Z4; (QIEL) MOIE  server @ (BFE2]) AH
makeZt AISAIY T X124 HojZ MOl SARAE2 +SEl
M toFHAIZ HRECE
CED academy ® st
AZIS0] AN E] 2 H0|22 A= +SEHE 20
HEHE LIEtLEE SAtresemble SSEHE MX| o=Ct
TS S "beSAt+being v-ed.
CED redecorate © CHAl ZHAIGICH CHA] F20]Ck
EE 534 28o| =252 Hoj= +StEf 2ZoA 2 =0t
CED review ® (NHESICE *2&5ICH  previous @ 0L
2SO +SE: "2SAH+be v-ed,
CED obey ® 2Lt 2535iCt
454A| _‘?_XI'Q_I XIX‘lEK‘lO-lE 7<(‘_).l; Sl'E _/'\_ H _E_O()"A-I @ =
A7t send m ZHHSX0] A0l TRIALtOE M1, () SAL
make f FX|AL forE 2Lt
® be surprised at: -0l =2tCt
® be crowded with: -2 %HIEF

H7|: tiR2 %A' =32 254 Hoj= St 2ol 2l
2 =rf,

© 280{7t that=Q! SAt saye= thatEe| F0{E $-SE19|

02 g [ thatH2| SAE toRTYALZ HiE

@ makeZt AIESAIY [ SX74 HO{Z MO SAIHTS &

SE 2RI toRHAIZ v

@ 434 BEO| XIFSH0E FOIR sl +SE 20N S
At give I ZFE=X0] 0l TIXIAL oS &

® be known to: "---0l|A| La{x|c

remain @ 7 --0lct patient @ &

delay @ x| summit @ (&te]) A

zo| ‘HEl W2 £359| 0|1, last weekZ HOt AIxIZH 2t

7{0|22 "beSAt2| A +v-ed,E 20t

for half price Bl

ZX0{7} that=el SAt say= thatEe| F0E 3t 29|

FOI2 & M thatEH2| SAIE toR™AIR HiECH

be satisfied with: --0il 2EESIY / be filled with: *

J1= Ry

CED passenger @ 524

2 A Ol
E‘l IE

He e 19



15 @ SX07tthatE! 2% 71501 itg AB5t0] Mit+beSAt
+v-ed that .....2| HEHZ +SEHE 2HEM, SAL believed
I that&2| FOIE +SEl 22| F0I2 5l SAIE toR™AL
2 HEE 2t
He — It = that he is — to be
® 4¥A 2EO| 7FHER0IE FO0|2 otz sSEidM= 21
=Z0] 20f| TXIAE MX| §h=C
to many — many
suggestion ® M2t witness ® SZXt murder ® ¢!
aquarium @ £&&  farewell @ =8
16 @ SATL| +SE= SA TS sttel AR Fo FZE
ch
was taken care — was taken care of
@ 2ot tHjtt “MRIE Ao|22 +SENE £rt
installed — were installed
EED kitten @ Af7| TY0|  security camera 22t 7tt2t
install ® &x[5iCt bracelet ® 2w
17 be covered with[in/by]: “~& E0{ ALY
18 be made of: -2 ZSOX|CY (HEo| L)
19 @ X|ZSAte] S5Z HO{Z M0| SAFEES SSEf 22o|M
SITHRAILY toFZAIZ HREECE
break — breaking[to break]
@ OJ2HAIH| ~SEl: will be v-ed
will release — will be released
CED due to - W20 release ® 20| FCf; *EAlGICE
20 3@ SAt makeZt M0l 43A 2X2 SEEIZ HHE I ZESH
O ofl TXIAL forg
CED model @ 22
21 makeZt AIISAIY [ S HO{Z MOl SAHAR +FEf
YN toFZGAIZ HREC
CED speeding ® 1t
22 ZIRlA £SEl: "oesSAt+being v-ed,

2L} to — for

CHAPTER

1 2HeF Erico| fstx| ot O=
lLE(N
(— Ericol 17| 2ol 2=

2242 7178 Soi2Y 4+ Y2

2742 7178 o8

N
£Q
n

20

2 Blof U7 2t ABIS SRUCIRIH LI 11 0] S| 24U4S S,
(— Ut 22t A2l2 SX| 2371 H20] L 1 o0l ST r>
3 Blrof of3iol 0| 20| OX| YUCIER 05 =27} HofEx| o
E

(— ofxligtofl =0| o] 7| W20l 25 =27} Lot UCt)

1® 2@ 3O

1 7P oA TIf+ 301+ were / SAtS] T4
[could/might]+SAHE,

2 718E atAR: If+3F0{+had v-ed, F0{+would[could/
might] have v-ed.,

3 =8 7Fg-: Mf+F0{+had v-ed, &0{+would[could/
might]+SAFIE,

Z0{+would

PRACTICE TEST

A 1 were, could join 2 had not left, could wear

3 had not remembered, could not have come
B 1 were 2had practiced 3 have succeeded

4 had eaten 5 wouldn’t need 6 had followed
C 1 took, would save 2 had fixed, could use

3 had had, would have baked 4 were, could go

1 7P oA TIf+ 301+ were / SAtR] T4
[could/might]+SAHE,

2 =8 7P "If+30{+had v-ed, F0{+would[could/

might]+SArS,

3 7PFEE oAHRAR: fIf+30{+had v-ed, 0{+would[could/
might] have v-ed.

Z0{+would

B

1,5 S ARl HITHE 7FYsh= 7Y atA

2-3 1{A ARROl HITHE JRgsh= 7HEE a2z

4,6 1ol Hei=lX| Ret Lo| HxH7IK| GRS 0lxl= dEs

7188 i M= S8 71

1,4 7rFEE 04 2 = 71EE 3 JKEH aii=E



e 2
1) LH7t ot ARl BE BE ITiH E2 Hid|
(— Li7h 2ist Algle| 2E ©2 2X| RsiM |RZolct)
2) Wi7h 207 X AFElS HOf K| §tTietH 22 i),
(= U7t Z0iIA| M AREl2 20§ FCh |Zolct)
2 1) Diana= OfX| 201l sl 2E 2S Oh= 2R Zict
(— AR, Diana= 201l tish 2= S LXl= RSt
2) Harry= OFX| O13U0f| 2 XEX| LRUAT HMZ =Holch
(— AR, Harry= ofstiol &2 Rch)
3 Tiof EHYO| SUCHH XITde| o e MES 4~ glS =il
2ok o] X7t SiUTiEtH R2l= 2E edis Hidl.

4 227t M=2 H2ES FloioF & mjo|ct,

I wish, as if, without [but for], it's time

pp.74-75
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me
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40
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2ok L7t Lf2tH L= Ul 0IRES S= XS FAsHX| 2= Hidl.

ofoF J149| X|&0] Szt

2
i
rr
o
10
o
0
]
]
o
3o
fio
rz
a

‘1@ 20

1 now?t {222 Sxle] AZS LIEIE I wish+ 7 kA,
2 before7t Y202 17 AMAO| BHHE 715k fas iflthough]
+7PYE aft=E,
€ED behave ® HSsict

PRACTICE TEST

A 1were 2hadn’t been[had not been]
3 had not been[hadn’t been]
4 hadn’t gone[had not gone]
5 had watched
6 took
B 1 1wishlhad 2 Ifithad not been for
3 as if[though] she had had 4 Had | realized
C 1 as iffthough] he were
2 as if[though] he had seen
3 Without his laptop
4 | wish | had made a reservation
5 It’s time you went

A
1 S AMEQ| BHHE 7PYSh= Tas if+7FEE 1HA,
2,4 pA AR} ECHERE AYE LS T wish+7FEE Di4t=,

3 fif it had not been for ..., +7FE8 DpAAZ;: (21 -7t QXA
CHH, ~gis Higl

5 D} AMMO| HItHE 71HGHE Fas if + 7P ab{etz,

6 fit's time+7FYE o4, (OIA) ---sHof & mjo|ct

1 Sixiel AYS LIEHHE T wish+7FEE kA,

2 7p8H atAetz0l 401 without[but forle if it had not
been forZ HE = UAS

3 7 ARMO| HIHE 71E5H= Tas iflthoughl+ 7Y niietz,

7P 20N if22] SAPLhad i ifs A2ket 4 Qlom,

if22] 0{2t SAE E=XIgf

»

fas iflthoughl+ 7P T,
fas iffthoughl+ 7P oA 2t=,
fwithout ..., + 7V 1k,

| wish+7F38 ntet=,

fit’s time+7F&d otA,

a » WON =N

REVIEW TEST Pp.76-78

01 @ 02@® 031)Butfor 2)Had it not been for
[If it hadn’t been for] 04 as if[though] he were an
American 05 had taken 06 ® 07 @ 08 @
09 bought, had bought 10 It had, Had it &= If it had
11 2fef L7t o] HHE E&3H2MH L= Ul 2S00 g5 +
QUE Hiol. 12 2ek T o3 QLA SiRICiH 2= 1 BE
4 HAE WESHK| 2342 Hidl. 13 | wish they had not
painted the wall green. 14 ® 15 would not have
missed 16 couldbuy 17® 18 ® 19® 20 It’s
time he won 21 Were it not for the soldiersIf it
weren’t for the soldiers] 22 If | had been close with

mjo

rH

01 TP AMHQ| BHHE 7hE6IE R TP I tE: MIf+ 301+
had v-ed, 0{+would[could/might] have v-ed.

02 2ol MEi=|X| 26t 2o| SxH7IK| FES DIXl= SEs
b4t uf M= &8 7PEY: TIf+ 301 +had v-ed, T+
would[could/might]+SAFE,

CED refrigerator @ H&n

03 "withoutlbut for] ..., +7F& tARARE, FL2UHIM without
[out forl= if it had not been for2 HHY £ 4 QUCh T
AHIfE Mzt 42 ifEel 0t SAE £XIsi had it not
been forg £cCt.

CED flashlight ® £%S  entrance @ &Y+
04 Tas iflthoughl+ 7 1174 = SixH AbAC] BIHE 7St



05

06

07

08

09

10

1

12

13
14

15
16
17

18

19

20

21

22

22

20| HMTIX| FEkS nIxl= 4

o

0%

7

1tAE LIEMLHE last Sunday?t AT 2 17 At S
7Pg5he "as iflthoughl+71® Ti{t= & 2ct,
A AR B Rl ARRS LIEERHEE 1| wish + 7R 2tA
&= ,5 20t

7P oA Tif+ 301 +were / SAt] 2HY, F0{+would
[could /might]+SAHE,
€D lost-and-found center 24 24
cost @ (Zt-HIE0]) --0[CHECH
A0 AHEX| ZeH Lol HRTIK| FEE OIXl= HEs 7HE

xot
SIEE =8 7PYHE 20t
7 Abale| BIHE 71E5H= Tif it had not been for ..., +
TP IR O TEALFE it 42 ifEel 01t SAL
£ TR,
=& 7P (Aol eret -
CED review ® 2&3ict
"had it not been for ...,
CHH ~3iS Higf

ruI

o2iA (X1Z) ~2 ol

+ 7P DPARAR (2R Tt giRd
CED tourist attraction 2 HA

"l wish+7F38 obAt=,: 3ot £ 9l

@ =& 7-d: "If+30{+had v-ed, F0{+would[could/

might]+ A&,

CED fever @ (Hoz olsh) & &
It AtAe| BIHE THSshE 7S =
SIXH AMRlC| HITHE 71HYsk= 7HYE 1bA

® last year= 0L, 17 AFAO| BHHES 71E6tR 2 Mas if+

7 niitE g 2rt

lived — had lived

CED assistance ® == complete © &=5ICt Z0kX|CH
essay @ KIS, 2|ZE

® 2o MB=|X] ZH Lol &

7Mdsta R =8 7S 2ct

wouldn’t have been — wouldn’t be

EED go out with -2t CIO|ES}Ct

(© 1t7 AMMel HIHE 7hEsta 2 TP

hurried — had hurried

@ A Ardat BiiEl= ARS

WAREE 2L

have enjoyed — had enjoyed

it’s time + 71" 2474, (OIA) -

CED award ® &, &F

"were it not for(lf it weren't for] ...,

7t ACHH ~& |igl

EED soldier & #¢!

78 atAetE: If+ 30 +had v-ed, £ +wouldlcould/

might] have v-ed, (‘2ret - HEfatH ~3ig Hio)

o

AXIX] GtS 0lxlE 4

Il

WAHAAZE 20t

LIERHEZ | wish+7 P

sf{oF g mjo|ct

+7PEE I (e

CHAPTER

@ AL

g ’é!%il:f.

=IQI '—fﬂ Ef=RiC
L1|7}ELEIAE|}_ I %EI': A% LtollA| 2
0|Zd0| 2|7} H1 &

atsh & 4 UL

‘1@ 2B

1 THAAFE LHOIA 2X0] oI5t shm, MSHAL
show)0|22 2x74 BAHHA} whichS
2 A‘loHA}— ILSHSHH n:|*|_x4( x4 O'I) ol

7t A2(The magic

e DI;

HAICHEAL what

PRACTICE TEST

A 1that 2what 3 whose 4 which 5 who
B 1 wholthat] wants to be an astronaut

2 which[that] was planted

3 that the director made

4 whose name | can’t remember
C 1 people wholthat] are

2 which[that] | borrowed

3 a friend whose hobby

4 What my daughter wants is

5 that didn’t agree with

1 MDA+ ARSLY T 2 2B thatS &
2 MIAIS ZEolH HAFE(E01)E olm= BAINBEAF what



3 AR LHoIA $405 *

AL A TH|CHHAF whose

MBAZH AS(the wine)R! X2 ZAHHAL which
(e}

=
MEAZHARRH(The man)e! 52 AEAF who

ok
mjo
ol
rr

HAHscreen)?| AR A

a

MEATE MA@ friend)Q! =24 BACHHEA wholthat]
MBHAIZF AE(the pear tree)?! 271 BAICHEAL whlch[that]
M=x(first)7F MHAE —’.‘—é!%* M =2 2ACHEA thatS
EAAE LHOIM 2415
=4 BABEA whose

ml

AWM =@

1o

EPE

HAKname)el 252 Hsk

ML M people)R! 2 HABEAL wholthat]

1SHAL7E AFZ(The nove-l)"I 27 A HHAL which(that]
AAPE Lol ~Alek= HAKhobby)2| AR Agkg ot= 4
4 BAHEA whose
A ZES5HH BAE(FO)S 0
whatO| 0|T1= HAPH2 = Fg
5 the only7t MAE SAS Y 2 HACHHAL thatS &

B

W N ="
>
OI'

r

_|\I

N
rx 40
o

|m= 2AEAL what,

m 2  EEA

Li= TS T + X B 2=20| 0 SIch
— L= A Hi 2=0] ST JsiE Qi

pp.82-83

G50 W7t Yste 1 zi=oll= LalwlolE7 M of Uck,

1 OS2 =507t 71 StUA= AlZ[0|C,

2 0|2 Uf TFSut L7t SHHERESE JiE EA0lCh

3 UE James2t 19| 7150| 1gks M 0|/E L2 UL
4 LioilA| of SARZ |7t 2S5t s 20 & 4 AU?

0|x2 L7t Xt Lo

=
it off stumof ZMIH=X

‘1@2@

1 TAE LiEH=
where
2 O|RE LiEih=

HAKThe town)7t MHAO|EE ZEARAL

HAHreason)7t MEAL0[2 2 ZAEAL why

PRACTICE TEST

A 1when 2where 3why 4how 5 in which
B 1 where 2how 3when 4 why
C 1 how he completed 2 the day when

3 the reason why 4 the place where

-t

HE LIEfLH= BAHthe season)E MEAIZ She EASAL

when

IAS LIEHLHE HAKa place)E MYALR Sh= BAEAL where
o ‘JakeZt MEE2 0|7t AIHARRERE 2ARAL whyE
EARALS| MBALZE ULHEQI HAKthe reason) m 27|

SALE ML B SHLIE Mefoh= 327t Y2

4 MY the wayet H#AEA hows B AX| b5

5 HAE LIEHH=E BAKThe town)7}t M3At0|22 ZHAEAL

vvhereE oiAlE &~ U= in whichE &

N
Yal

w
o Ho o

B

1 M&AKthe middle school)7t HAZ LIEHHEE at whiche
BARA where2 HE 4= US

2 HIHS LIEHE BAE MABALZ SHe BAIEAF howlthe way]

3 M#AKthe year)7t HE LIEIHEE in whichs ZHARAL

whenlz HiE = s
4 MY¥AHthe reason)?t OIRE LIEHHEE for which= 2AEA}
whyZ HEE 4= US

YIS LIEHLE HAIS MALR St ZAEAL howlthe way]

HE LEtLl= HAKthe day)s MBALZ ste BAIREAN when
O|RE LIE= HAKthe reason)E MAIZ Sh= EAIRAL
why

4 FAE LIEHHE

W N =N

HAKthe place)g MHAIZ St= EAIRAL
where

m 3 SsEha

A

Jane2 49| Aot &
= Zofsir},
22 Uo| dofLiHztE L=

flall 226l F= A2 FAOIEX| F

Lol ZEE gFE Aolct.

L= U7t E0lsks F& M0|=X| o= &
Ol 22 JiHEtE Ue RA=0l =5 ‘A’A'Ef

g Haie 23



B/

di7h gt = AXLE 22| Foil 24zt
x| G4I0] 2uat: G2 SFets AYLIC
Ar

O 74 27t 7ke X2 OEEX| ARSES B0 220
LH7} OfR2| Eals| HFCRE L= L M=0IM 2SS X2 4+ o
AL,

10 26

1 -ole AES 5SHEXQ o2 HAE(FH)E olnEs =
EACHBEA whoever
2 ‘OfF2| --siEfatz'el o2 EAEE 0|11= S EAIRAL

however

PRACTICE TEST

A 1 Whoever 2 wherever 3 Whichever
4 Whatever 5 Whenever 6 However
B 1 Wherever 2 Whoever 3 However
4 Whatever
C 1 Whatever you do
2 Whoever comes
3 Whenever | feel stressed
4 However high the car’s price is
5 Whatever decisions

—

YAE(FO)2
FEAS

0ln= =&t 2AHA whoever: 8h= A2

2 BAEE o|n= Sg #ARA wherever: ‘O{E|N --5HH2EE
3 EAEE o|ln= 2§ #A™EA whichever: ‘O -2’
4 2AEZ 0ln= SF AAHHEA whatever: “20[[2] --5lH

2t
5 RAEE ojmE
SAPEE ojns

A=A whenever: ‘| --SiEf2tE
ZAEA however: ‘OF22] --SIE2tE

o
X

Jo
oo o
N

»

no matter where = wherever ‘C|A --5tH2}E
St= MRS STEX
no matter how = however ‘0tF2| ---SlE2tE’

no matter what = whatever “210([Z] ---5lC2t=’

anyone who = whoever “

A WN = m

- 0

2AEE oln= 55 2AHHA whatever
2 YAEEFO)2 oln= S 2AEA whoever

24

& BAEA whenever
HEA however
& HA™RSA whatever: ‘& -2t

I
I
£
2
njo
=)
H
rr

[ 1 1
o
rE

1 L= AnnaoiiAl HeiSEX2E Jlfs Hets 2K 24Tt
=, [=]
=

= M2 LefE ¥, aA

Qe 1 22 FWafm Lol 1%
LH= SRI0M LIO| MARS SH=T, IS Lt OlAS5IR| 23U

N
1o

ul Exle ofz o € AU, 2 7|2AZBHT
Li= MIZEA|ATOf ZE=Cl, 3R0llM Brown ME 'xAEh

1 L= U7t a3 O MES 719e + gl

55 3 0/0iZ2, L7h Al AIUE QI o|o] Cf Lt

2 X7|M FLIZ OfAZ Q= T 6Xk= L] AREO|CE
C/

0]|740| 2 A= AENT} Al= ZO]Ct,

0|22 L7t 7+ i A2iRlSh= SR

®

t A=(the things)ol Mx|[AHabout)2| SH0Z Ml S5

N
ZACHEAF which

MSHA
|_o
74 1}
-

PRACTICE TEST

A 1 climbing 2whom 3 which 4 where

B 1that 2X 3whom 4X 5whoare
6 that were

C 1who 2which 3 where 4 whom

A
1 32 BAUHEAH+beSALZE MR 2AHclimbing the
tree)7t &2



2 AME(the man)g MAIR St HXIAF withe] SH0ZE M0l =
74 A HEA whom. HX|AL Folls BACHEAL that2 £ 5+
HS
HACO

3 o H MAHE MR otz AEE EHo| HAHHEAL which

4 HAE LIEHE M3AHthe zoo)E BIIXoZ M= AlAA
2Ho| HAEA} where

B

1,3 SALY HXAR] SXZ Ml EXMZ A cHHAL= M2kt 4

[e) k=2
P =]

2 MXALFEO U= XY HAHSEAE 2 4 s

4 ASH EHo=Z MOl BXA MIAIHANE MaFE 2~ Sls

5-6 "FZ HAHHEAHbeSALE FHol HEAALE AL 2 of

AMZFSE A Ol
o= 2T Ma3

C

ALH 8HOZE MOI ZAICHHAR: "H&AH+HHALE, 2ARAR=E

FEHEA+RALE HHY £ 2 ACH

1 AlEHAdam)g MIME St ALE SHOZ MOl HACHHA
who

2 o A TME MHAR ot ASH SHOE MOl HACHEAL
which

3 EAE LEHH= HAKBusan)E MHAIR slo ALK 8oz
MOI ZA A where

4 M2{(The girl)2 MEAIZ 5l MRIAF toQ] 2X0{2 MOl 2X

24 ZAICHEA whom

REVIEW TEST pp.88-90

0

0

0

01® 02® 03®@ 04 However 05where 06 @
07® 08 @ 09 ® 10 Here are the plates which
[that] we bought today. 11 where, in which, which
[that] 12 @ 13 1) the day[date] when 2) where
3 how 14 ® 156 16 @ the way how — how[the
way], ® Wherever — Whenever 17 @ which —
that, ® which — where 18 ® 19 Whoever enjoys
dancing 20 a coat whose buttons 21 why |
decided to sell

1 saidQ SMES MIAR Sh= ASH -l HALHEA
which& £2Ct,

2 M#AHwinter)7t TS LIEtLE= HAO|Z2 HAEAL whenS
220t

3 Whatever she says, it always makes everybody
smile.2 & = UCt "BAO[[E] --olEf2t="2h= Lol FAE
2 0|11= SF HAHBEAL whateverZt 401 20| &[0{0}

04

05

06

07

08

09

10

11

12

13

14

15

i,

‘otF2| -stHEtE 2= 522 no matter hows= S8 2AIE

At howeverZ HHY & 4= QlCt,

brilliant & 24-st, HOt  universe @ 2F

HAE LIEt = HAHGuUam)7t MEAt0 |22 ZAEAL

whereE £Ct A& 8Ho= MOl AR wheres "H&

A+ EALRI and there®t HHY £ 2~ UCH

O MEATL AFE(the pool)old BAMEAM S A
SIE2 22X 2AHYAL which[that]E £Ct @-G=

A7t IHE LIEHEE BAO|T Fofl &%15H Ho| o|ofX|22 A

EAtwhens £cCt,

CED celebrity ® | QAL pass away ARSI S0F7AICH

season @ AZE; ((EY &&0| &slixl=) Al7|

® SAL MXIALS| ERE MOl SXZ BACHHALL T

HACHEA+beSAte MaEre o UX|EH 32 A HEA = A

eFst 4~ ik

CED walk past & XILIX|CH

MAHAE ZEEHH HAR(SHO0|, E0i)E olo=

what& £Ct

CED put off OIRCH 7l till @ - order @ F&alCt

“ohE A2 SHEX 2l Ko AE(EEN)E olos
23 ZABEAL whoevers Lt

CED feel free to-v OKSCHZ -3l polite @ oilQ] HIZ

ML AFE(the plates)Ol, ZAAENN S&0] dets
S22 SXZ HACHHAL which[that]E £t

CED plate ® TAlL 2

HAE LIEH= BAKthe log cabin)g MYAIR st= #HAE
At whereE 2Lt EAEAL wheres "HX[AHZACHHALR

in whichZ HHY £ 4= UCh o FXIAE ZAAE Zof &

H S ZAHHEAL which[that]E A

log cabin ® SLF 2Fa

@2 that2 ™&A0|T LIHX =

CED be full of -2 7= &} UCt

be responsible for ---0fl 40| ICt
1) March 3= ZME LIELLIZE M3At the dayldate], 27l
At wheng 2Ct

2) Lake Louises

k.

ol

-2
=
SH
S

rx

EACHBAL

V0N

23t 4 ek,

T BACHEA0|C

AE LEHNEZE BARA whereS
Ch M3ALZ ABHHRl HAKthe place)?t 204 *”EFEI‘R}EP.
3) 2aA Alot= WiHS Hig A'0[22 HHE LE=
HARA howE £LF,

CED fish © HAISic

@ BA(FO)E olns =& AHEA}L whoever: -8k
At =ex)
® BAES o|nEs 2 ZAESA Whlohever ol Bt

@ =5 BIRAL wherever: ‘0TI --iCiElE

attend ® &AfEICH sample @ 722
local customs X|9™ 2&

® TX|AL FHolls ZAHAL thatS £ 4 gict,



16

17

18

19
20

21

@ MEAL the wayet ZAEA hows &

® 2U4 JennyZt #l= Al 7HE mhe SimILf 2k 50
AZREE S5 BARA whenevers 2Lt

technician ® 7IAL 7I1&Xt challenging ® &1

AT TAR+ S2,Y = F2 HAUHA thatS 2Ct
HAE LIEth= BAHthe aquarium)7t A2Ato|z, o

012 =X0{7t U= XS Ho| O|0{X|=22 2AIRA where

ch

tag @ (I HEAIZ 517 2f5H

aquarium @ =

7 MX| QH=Ch

iy 4y @ (®)

i

200) m2|%

© 294 THe| ma|'0|22 SAlsHs HAKtail)e 4R4 dglg

otz AR HAUHEA whoseE 2Lt which — whose

@ 2A| E—i‘ fthat2 AEA 8oz £ 4 gitt that — who

CED adopt ® LYsiCt tail ® (822 12| table tennis E7
AEHF0)2 ol =& 2AHYAL whoevers L.

R4 S st= AR 2

I:I=1
o
BN E'!Ukr(buttons)QI
HA

OIRE LIEHHE BARAL whyS 2T BISAL whyol M3
At 0IRE LIEHIE LHHEIR1 BiAKthe reason)olo= A2t
4

CHAPTER

26

pp.92-93
Kelly= Jenny2tg &
'—FE ASHE AE AL

1 S2lo| Zeiis Mol H=ct L4,
2 LK= 0f21 8] 2= Hofls LizK= et Zofl 4 %2 o S0t

Bict
Ted= 2| HollM 712 Al Ut (Teds Sal Bl 7t Ais
= %om)

X|oj2IHE & 7K Lo|7} ofz|ct. (Dianas
71 Lto|7} o2l x|of2|folct)

e A
= 32 5 ok

QE sty Xjojz|oE =
Liz= 240N 7t 221 &2

1

3®

@

2@

1

€D cam ® &
2 |'
3 Mthe+3& %o

"ot as[so]+ _J

EAL/RA| H| Echami R
EAL/ RAL| FldEs ThE et/ o 71|

PRACTICE TEST

A

w N =W o OOI\)—‘>
broFo

a N

—

1 heavy 2earlier 3 most 4 most 5to
6 strongest

1 not as[so] light 2 busier than

3 the cheapest of

1 is harder

2 not as[so] thoughtful as

3 the oldest building

4 as enjoyable as

5 less beautiful than

as+EEA/ B
FHEAH/ 2| H|WZ +thans: *
WA EE 7 S0 ststS T1E 4

1o

A2 mostE &. BALe| zlAg olle

tol Eg+asy: -2t F ~at /oAl

~HC O ~8t/ s

st= Z'0[22 much?)
theE 20IX| 27|=

oolI

o

the + Zl&fF+in+ &4 - HIS LiEth= SeBAL - (2holM

7beh ~5t /st
prefer A to B: ‘BELCH AE O Z0fsiCf
=+of+H|W (0] El= HAL - &

fthe+Zld TR~/ S

"ot as[so]+ &z +ass ~2tF - oR l= et
TSI/ AL HlwF +thany 2Lt G ~

the+Zletg+of +H|u CHEO| EIE BAby:

Mess+®Z+thany: - 2Ct & ~5t/sHA

2  OoRIENES ES

pp.94 - 95
Emma= C>EI Stwoil M 71 Mo|U= sHdolc.
© StlE EmmattE Ao|UX = 2L,
© ShME EmmaCt B ZHO|QUX| 4ch

22| efu 9|

28| stwo



Emmas 22| &wo|
Emmaz 22| el
2 F4 ZANEZ 0IF0IM 7P 2 FLE S stolck,
m7tA= MACIM 71 286t ols71E & siURICh
T AE2 2| AN 7HE &2 Bh= ARE 3 ofHo|ch
3 A2 227t XIEVK| 2 A & 7+E 71 Zolch
Jill2 W7t XIS7ER| 2R AL S 74E F2IsH AH0|h

0|2 U7k XIZ7IX| 2 A & 71 B%iet F=tolct,

‘1@ 20

1 TH|Z=+than any other+ ErBAL= Z4E2| 522 LIEHH
2 "No (other)+EAt+... +as[sol+ ¥ +ass= 2=l L2 Lt
EfiH

PRACTICE TEST

A 1good 2 the biggest 3 cities 4 more
5 athletes
B 1 as[so] delicious as,
more delicious than,
more delicious than any other dish,
more delicious than all the other dishes
2 as[so] boring as,
more boring than,
more boring than all the other books,
the most boring book
C 1 the highest mountain | have ever climbed
2 one of the most popular flowers

1 zld=2 UEhE= "No (other)+HAH+... +as[so]+ &= +as,

2 Tthe+ZME(+that)+30{+have ever v-eds: XIZ7IX| -8t
R & 7P ~8F

3 Tone of the+Z&E+SpHAL: THE & A[AIR]S & SHLF

4 z|MEE UEH= Hlig +than any other +EtEAL

5 Z|&ES LIE= TH|1Z+than all the other +S4FAL,

B

S HIEE ALES 2N B
the + zl&a,

— ™No (other)+ZAt+... +as[so]+HZ +as.
—"No (other)+BAt+.. +H|IZ+than,

— TH|@&+than any other +H=3AL

— MH|wZ+than all the other+23AL,

rol

pp.96 - 97

-t
0%t

=2 =20 20 O Zesith

Jacke LIECt 8 o B2 fAS sert
(D 12 M2 AnEEe ofF HE=CH o Hluct,
2 Paul2 HA MFEo=z JKs3t 5t 2| LRt
3 M7= & o Zokx|z Qlct,
AlZto] B2HA Lto| FHof Alzi2 &7 of Z0}HC
G50 157 771= M3 o S0|7Iz6HK| T UCt,
4 U7t SAS| BESAE | M4l o &0FE oot
M7} RS EIRE LY 712S of S0fRIC)
5 o] ML | Z{o| & = It
| 2|71t L) Hal7 12kt Al i 2k

1@ 2 3®

1 "much/even/far/a lot+H|ug+than,: -=Ct ¥ o
~5t/3HA (Hlg ZX)
politics ® Hx|

2 "the+Hlng, the+Hlug,: " (6IH) &5 of ~sict
CED sweat © =2 E2Ict

3 fHiAt+as+RZ+ass ol B HE ~8t/SHA (= THiAR+
B +thany)
CED luggage @ (HAE) &, 512

PRACTICE TEST

A 1far 2possible 3 more 4 as expensive as
5 more and more
B 1 The better, the more 2 as quietly as he could
3 four times as big as
C 1 worse and worse 2 five times as thick as
3 The longer, the more tired
4 as quickly as possible
5 much[even/ far] more serious

-t

W= ZZ: "much/even/far/a lot+Hlwg+than,
BAbverye HRZS 3xs 4 Qe

2 Tas+¥Z+as possibles 7Hset &t -8t/ HA!

w
—
>
D
+
=
=
H
=
D
+
=
=
i
o
i
et
).
T
inl
2
_O'I_I
Il

gl 27




—

Hi

"the+H|xZ, the+H|ugy: -

ol
and more+ 8,22 &

il

WZ0| 'more+ &=, E2, BH™ o --8t/5H'= "more

(61H) &= of ~slcl

=
fas+ &&= +as possibles2 fas+ &g +as+F0H +can22
HHH & & US

MHis=At+H| RS +thans2 "HieAt+as+ HE+as.2 HHH £

[e]]
YN

o

Ojo

|w&+and+Hlwg, B o --8t/s1A

REVIEW TEST pp.98- 100

01® 02@ 03@ 04 ® 05 loudest and loudest,

louder and louder

06 more, the most 07 to 08

® 09 No, as[so] scary as 10 as attractive as they

can

11 (A) It is three times heavier than a bowling

ball. (B) It is three times as heavy as a bowling ball.
12 ® 13 (1) the cheapest (2) twice as expensive as
(3) cheaper than 14 ® 15 Alex, David, James, Nate
16 1) as, as  2) No, more, than 3) four times as, as
17® 18 @ 19 ® 20 one of the most successful
designers 21 less comfortable

01
02

03

04

05

06

07

28

fthe +H|ug, the +H|wg.: - (otH) E4+&E o ~oiCl
H|m=0| ‘more+&=.21 <, ~8t/5tA'= "more
and more+&5,22 £Ct,

EED nervous @ ==t

The new medicine is muchleven /far/a lot] more
effective for a stomachache.2 & = C.
"muchleven/far/a lot]+Hlug+than,2 2t ¥ o
~-8t/5e] SEo &, HluEE dXsk= EH0ICL £Abvery=
HngS Zxg 4 Qick

CID effective @ 152!

"H|ZZ+than any other+&H4+HALE Z|AZ9
oot

"Hlug+and +Hlmg,: ™ o --8/sH

the +Z|4E(+that)+Z0{+have ever v-eds XIZ7HX]| -
WM & 7P ~8F

EED convenient @& ®a|st

superior(24=8h2t 20| -orZ ElLt= 8Al= Hlm E3o||
thanO| ofL|2t toE Lt / prefer A to B: BELIAE O &
ofstct

<= Lt

£l

08

09

10

11

12
13

14

15

16

17

18

19

20

21

€D product ® MZ, A2  competitor @ ZXKL, 7 i
distance @ 7zl

® Harry2| 3¢t B(90)=

not higher — higher

"No (other)+ZAt+...+as[sol+ &E+as.= 4= K2

LIEHAHTE

CED ride @ EP|; (=0I3&2)) =0| 717

amusement park =032

Mia2| S2f E(60)=2Ct o ECt.

fas+ &= +as possibles2 fas+ &g +as+F0H+can.2
2 HHY £ 5 UCh

CED attractive @ DHEZC!

"Hi=At+as+ a5 +asse -2 B iR ~8H/ o Xe =,
"HiseAR-H| S+ than 22 HHY £ 4= T
EED bowling ball @ 2212

® THiseAHas + B2 +as,0|122 I S0t

(1) cheese sandwich®| 71z40| 7Het M2 Z "the + Z|4E,

= 2L

L

(2) chicken burgere cheese sandwich=2Ct 5 i G H
M2 THiAt+as +EE +assE 2Lt

(3) bacon sandwich& chicken burger2Lt M2 6|
=+than,2 £t

@ ‘o Az LU0 g SR5HK|= o4t '2h= S20lCt

less — more
"No (other)+ @A+ ... +8|ug+than,2 zAZ2] =2 LIE}
HHEE

1) fas+ ¥z +asy “LtF ~8t/sHI

2) "No (other)+BAt+..+H|wF+thans 'O A= - £Ct
~otX| 42/ %Al

3) "Hi=A+as + Hg +asy -2 B HiE ~5H/SHAl

® "one of the +ZMZ +E55AL: TH -8 ZAR]
SiLP

conductor — conductors

© ZMZ9| =2 UEHE EF2 "No (other)+HAt+.. +as
[so]+&Z+as,t "No (other)+ZAt+. . +H|mZ+than,O|Ck
more interesting as — asl[so] interesting as &= more
interesting than

€D conductor @ XIZIxt outgoing @ ISR, A
@ "the+H|1Z, the+HlwZ,: (-51H) &2 o
the safe — the safer

€D impressive @ 4RI call © -2t H2Ct; *Matsict

@ SAl speaks $AlGkE BANR| ¥50| 25ttt
Tas+ &= +as possibles 7tsst §t -5t/

slower — slowly

CED weigh ® 27171 --0Ict lecture @ &2 day @ &1F; *%
one of the+ Zl&a + 5L 7HE -5t MRS & iUt
CED successful @ 43t

Ness+®g+thany: “Hot & ~t/sHA!

comfortable @ Hotst

=
S

un

Fu={ol

~sict



a

X =

CHAPTER

A2t OIRE LIELLE= Al

pp.102-103
S2t0fl Sam2 19| &K

L= ILOiI71I

dztstct,

Rz EHelE "M 22|9| 6 Al=lof 2tsl ojok7[RLC.

Nicole2 Lo|7t SoiZof| et o U2 U7 =IUC

wE0| o EERY7| W0l R2l= 1 2lQjol =L

Li= 252 AlXfRt 0212 Z0| #W o Liopxct

ATHAERE 22|5t7] 7| 20 o 17| AT

ZEEE 21 0] 25| =5 WiriK] 7|cizt,

Alexe AZIIE S2e Mottt 22 S0 S=Ct
AlsiAol| S0{2XHRE HORCE

=202

Carrie=

HI7F 2X|H 'z Ao|ct,

e

‘ 10 2@
1 while: -5t Stof’
2 since: - O]ZHZ’

PRACTICE TEST

o s N =

A 1 while 2since 3As 4 Assoonas 5 hear
B 1 Assoonas 2 everyleach] time

3 As[Since /Because] 4 since
C 1 untilltill] her daughter fell asleep

2 while other students are studying

3 Every[Each] time | see a shooting star

4 As[Since /Because] he didn’t apologize

st= Setofl

since: -+ O[2HZ’

as: &l mat

as soon as: “+-StXHERY

AlZte LiE= SAFENIME OIS

while: “

LEfLHCI2E Oj2RA IR CHA

HAINIE &

B
1 on v-ing: 8IXIOLXY (= as soon as)
2 whenever: & miotCt (= everyleach] time)
3 aslsince/because]: - Eo]’
4 since: - O[2HZ’
C
1 untilltill]: *--& m7Exy
m 2 EH-29.- US| EHIEESA
pp.104-105
1 T LY =0| 2H Li= Lto| Ol0|ET EARE BHE Zo|ct

2

D ref L7t 71

4
5

L= Jeano0| 22| S5 2lofl HoEX] (oF &X|) Z2C},
227} ot S22 ES6HK| EoH

Fofshs AN} BiL}

rz
r

Ir
-
ro
1o
n&
o

Zo|c.

S12 S| BRI, ATOIN B2 H4S

HIZ Lucase &~
k2 2 oloirt
HIZ = 282 71 ®™X|et 1 3IAe] 71&

A U7 BAIE Bl U U HI-ES =3 A0ICk
11 7u|7t Sto| M2 £0tM L= & £ o Oyl

QI7H7F AR &2 HO[01M L= oFF ZAsiA 2HCL

AnnieZt SIAE e 7Hek= A2 ARRo|Ct
Li= a7t =0l Z|me| 7hata Mzisict

=M=

2|7F AlZto] BESICh= 20|t

®

Falthoughlthough]+AM,: 'HIZ - X2F

PRACTICE TEST

A 1unless 2Though 3If 4 that
B 1 will drive — drives
2 If — Although[Though] / Even though

e 29




3 get — will get

4 so — such %= a beautiful place — beautiful
C 1 Evenif | apologize 2 unless she takes notes

3 even though he doesn’t express

4 so scary that 5 It is fortunate that

6 so that she could understand it

A

1 unless: “5tX| o™

2 though: HIZ - X|2F

3 i ‘Bhef 2t

4 Tso+EHEA/EAt+thats TS --sHA ~5iC

B

1 RZE U= RAFERNME OIS LIEHACZIE O2HAIK| chAl

SIXHAIMIE &
2 Talthoughlthoughl/even though+AHd: ‘HIZ - X2
if7} 0|T1= =o| HAPE0|2 2 O2HE LIErE mf O[ZHAIMIE &
fsuch(+alan])+ @&At+HAt+thats/"so + EEAL/ SAH+
thaty: ‘THS --aiA] ~aIF

E NN

feven if+7tafel &y ‘MY - &X2tE

unless: “-tx| &’

feven though + Ak, HIS - X|2F

Fso+&EAL/ EAt+thats: ‘TS --sHA ~iCt

71501 it2] ZIF01Q1 HAFEE 0|1 T&AL that

fso that+30{+&AlLs: 7k ~5t7| 1610, -7t ~ot=&E’
(="in order that +Z0{+SAt,)

oo ON= N

m 3 HOZ ORI E&A

pp.106 - 107

—

2| BEEH2 LS ARSI X[X[SHCt
Danny= |22t 23T = Cf 012 & Q2|stct
2 Cathy:= HHE OFLH FZHOICH
SI0f| 2oLt E5 'Fof2t
3 Paul2 3£ Aol= aisks Hol= S0|7t gict
L HHE L= REE0 71 2 Xo| gick
4 L=XofAlE SARRD OfLEL BS54 TSI
1 Zel= XIFE 2 OfLI2} o=

et Jack = Ct AFES0IA| TIFSICE
Alex OtL|H Li7} ERICE
Benk Hx 1142| A=Al0| =CHEEX| 22340t

30

LRt ofL|2} L= 17 Sets E0tettt,

\1@ 2@ 3G

1 both Aand B: ‘A B &t
EED quality @ ()&

2 neither A nor B: ‘A= BE= Ot
CED field @ S *=20¢

3 not only A but also B: ‘At otL|2t BE'
friendly @ ZIESh *2l&st faithful @ 25t

PRACTICE TEST

A 1either 2need 3Both 4am
B 1 either, or 2 Both, and 3 not only, but also
4 neither, nor
C 1 both history and biology
2 neither big nor crowded
3 either stay here or go
4 not only money but also fame
5 as well as in the 1990s
6 nor | get an allowance

either A or B: ‘A%t B & st

both A and B & =

both A and B: ‘A2t B & LI

not only A but also B= B0l SAtS| 5 XA

AN =B

B

1 either A or B: ‘A2 B & &Y

2 both A and B: ‘A2t B & CF

3 Bas well as A: ‘A%t OtL|2t BE' (= not only A but also B)
4 neither A nor B: ‘A= BE Of¢l’

C

6 neither A nor B= Boll SAIR| =5 XA

REVIEW TEST pp.108- 110

01@® 02® 03@ 04am,are 05 wil get, get
06 It was so hot that | wanted to go for a swim. / of
2 CM L= aFsta] 7tn 4Act. 07 @, ® 08 @, ®



09 Even if 10 1) Both, and 2) Neither, nor 3) Not
only, butalso 11 @ 12 ® 13 Unless he eats less
and exercises more 14 blue jeans as well as a cap
150 16@ 17® 18®@ 19® 20 @ has — have,
® if — unless %= stop — don’t stop E= will not meet
21 @O wasn't — was, @ write — writes
22 ifflwhether] he will come back 23 so that | can
travel

— will meet

01 if: Qe -2
02 (EAIOH) 2oy, - SHHA
uniform @ ™=, 2=, @= look in & SOCH2CE
03 @ either A or BE ‘A%t B & 5tLt'el 222, Boll SAte| 4
£ UXINZ |22 ares B2 AL
vet @ #=2lAL animal trainer Z2IAt
04 both A and B &= FEsiCt
go on a business trip &% 7iCt
05 AlZFS LE= 2AFEOIME O2iE LIEHLHEHEEE O2HA X
CHA SIRHAIMIE 220
06 "so+E8AL/EAt+thats i -8HM ~5iCH
EED go for a swim +g5t21 7t
07 every time: “-& moiCk (= each time/whenever)
08 as soon as: kKXY (= the moment[minute /instant])
09 Teven if+7kel o, ‘M Xt
10 1) both Aand B: 'A% B &t
2) neither A nor B: ‘A= B OFI’
3) not only A but also B: ‘A#¢t OtL|2t BE'
lawyer @ HSA}
11 @ unless: “+olX| 2o @ as: --&oil w2}
CED urgent @ 7158t come up LIRCE *M7|ct st
approach @ CI7t2Ct mosquito ® 271
12 (@ as soon as: “SIXHORF  ® since: - HE0]’
go off (YZol) S2Ict promote @ STIAIFICt
hard ® g8l
13 unless: “5IX| ¥ (=if ... not)
gain weight ®IE0| &Ct
14 not only A but also B: ‘A#Zt ofL|2t BE'
(= Baswellas A)
15 if: QUK (BAR), ‘THef --2bH’ (R712] 2AFE)
EED rumor @ AR, RH|0f
16 since: - WE[; - O]2HZ’
CED enter ® ---0f E0{7iCE *
17 while: -sk= S¢F; +-oh= HHHofl
burn © EHLCE *Cict
18 @ X71E LEt= 2AEMAE 0l2HS LEEHHEHZME O[2HAIK)
oAl SIRHAIMIE £20F — if it rains tomorrow
EED postpone ® OIRCL 7l wood @ LIZ, St *(pl.) &

reserve @ Of|2stCt
19 ®9| ase= - MEof'2k= 2011, LIHX|= (SAlof) g mf’,
- BIHA RMS 0|}
€D stop by &Al E2Ct cross © 7iCt
bump into (£3l) OrEX|cH
20 @ either A or Bz BOll SAte| 8 UX|AIZICH
(® 2aat - 5EX| ptoE’ | 201 if
CED tease ® =2Ict
21 @ neither A nor B(AE BE Ofl)E 80| 28 Hatsirt,
@ not only A but also BE Boll SAte] £5 2k
22 iflwhether]: 21X (HAMH)
HAFHO| M= O[2HE Of2HAIMIZ LIEHACE
23 Tso (that)+F0+SAty: 7t ~at7] fI5te, *-

CED save ® F3iCk: *(E2) 2ort

. ot EE= unlessE £Ct,

7t ~ot=ZE

CHAPTER

@ xiot sk

B

pp.112-113
1 1) 22| dio| BE 0| $Y5H= HS B2D UCk
T LIS SOHE 4 Yl AR QLI
2) ZAIBke 17t 7k Z0fsHs m=o|ct,
E'a@% #87fel S0 0IR0f 5I%

50':*317 f LiollA| AZo2 FoRCt
4) EMISEE Okl 22 Ul 7420l £X| gct
MNA7t Hst= 232 "stolct,
2 1) Caitlinzt Lk= SZ0ICt,

@D 7llztolAs oi2 grlct

2) 242 Y2 ASS SA| B0 S
3) B2 ARISO| A HEH0| B2 A Ict

1has 2is 3were 4are

g Hsie 31



feach +HEAHHESAL

slmoie =450jzte e AT

fa number of + 2+FAb= S 55
(both) A and B= 24 22

A~ O N =

PRACTICE TEST

A 1runs 2is 3work 4is 5are 6is 7 are
8 has
B 1is 20 3is 4has 5pay 61s
C 1 Nobody knows 2 Chatting with my friends helps

3 The young are 4 A number of students were

A

1 "each+EBEAHERSAL

2 SRE2 S0tz t FT

3 (both) A and BE 2= 513

4 TAER H FHZ

5 Mthe+&SAL7t & AlFEOl2te YU I 5= &z

6 ZUQ| HPl= Ha FT

7 "22 Edl(most)+of + BAtz A SAL| & ?E'iIAI%E
8 "the number of +EBALE 2| fEl= K2 = 3=
B

1 28 m8(half)+of + BAl= FA SALS| & LXIAA
2 fanumber of+ExBA= B FE

3 7Hzlel tel= o FE

4 Tevery+EtEBEAERESAL

5 Tthe+&8AL7t 8t AlRIE Ozt S 1 2 FF

6 -thing2Z ELt= tiPA = B S

-bodyZ ELt= tiHAK= B FE
BA= B FF
fthe + &ALt Bt ARIE0

fa number of + E¢BAbL= i’# Z'FIE.‘

|. ==}

AW N = A

m 2  AEIQ| K]

1 1) Re2l= 271 XIF ALsitte zieict
J= W7F M OMHES st A0 ZAth= WS 2tch
22| o= Wt a4el =20

2) L= 27} Lo chalf 24- 3|-|:|-—| AZFSHC}

pp.114-115

o O AN
= U7t ABHAS SHCE XS LU
Ol L7 23401l A 2t U0 Rche HS UL

32

2

1) Josh= M20| 8t=2| £221 22 HiBCh
Lte| RRE2 FZI0| Ze| Wato|atr HEsHiCt

2) L= ZHT|7H 186901 EHOY'tTtar HiZIC
3) Li= o™ 22| Sl 2301 oF2lE 1 2|2 LRIt Urks A2
LA =k

Kate= 70l et 222 T149| SIS AlRFRiTin 2D

b

10 2@ 30
1 FE A7t 20| 2fE &=t 20| alE £E W=t
TX| Qojt Lo|DE WHARE &
2 Z45H0| Hotx| ob= AMY mf Q| AlX|2 2A|IS10] SXHAIX|
=
3 ZAT0| FAR AR [ FEO| AM|QF BAIQI0] THAKIZE &

PRACTICE TEST

A 1flows 2fought 3 has 4 have
B 1 Jack had planted the red roses

OO =D

Ww NN =

J

-

2 Luke would break up with her

3 Heo Gyun wrote

1 had quit 2 the early bird catches

3 skips breakfast 4 dropped a bomb
5 said that he was nervous

fePH A2 FHEO| AM2E 2AISH0] FMAINIE &

AR A2 FEO| AM|2F 2AIZ0] HAANIE &

R AF2 FHEO| AMI2E ZAIO| FANIE & 4~ US
LEE FE| AM|2t 2#A Q0] HRHAIKIE &

CED Walls have ears. =oll= 77} lCt,

(L2 M7F ET g2 F7t E=0)

ZFHEO| AMZE AT EH SSE MHANE IR v
ZEO| AMZE 27} E|H ZSAL will2 2! would 2 HiREE
AP A2 FEO| AK2F 2AIZ0] HAHANE &

2ixhel E‘El'% FHEO| A2t 2AIZ0] HTHAINIE & & US
HAH AM2 T Aot 2AIGO] IAHAME &




5 FEO| MMt ap7{o|n, SLH0| FEI 2 AFH0|2Z S45F
ol HAINIE &

pp.116-117

1 John2 LioIA “Li= HIZES 210 2101”2t LA
— John2 LiolIAl 27} HiZHS &)1 At Z34ch
2 1) 3 Zxk= HollA ‘H= 7171 Zolu?et SUc
— 3 FXl= LolA W7t 717F RRUX| SACk

0D 2571 Lol w71 |E Pl FHU?"2in 2ict,
— BEIF LA =7t LS Falf BEX SUCh

2) Hans= LioilA| “Lizh Z=Zstad Zef? ata SQUck
— Hans= LoilA| Lot 29t =5t ZX| SRUC
3 Jill2 LIollA| “SA[ Ltofl7A| ThA| Fatsl. "2 Z34ch
— Jill2 Lol ZA] ZLH0fl7| CHAl T&tsl et SERICE

G0 3= a9l ofoloil “Aa| XI2X| OF"2bm L3k
— 4= T149| ofo|ofjA A2| X|2X| Lt Lt

1 U= 37t ofoioll 7k RLsX| oH?
(— L= Ok? + 2147} ofclofl 7k L)
2 Lb=JU7t L =S S0HX| 2H0] gLt
(— Lh= =] @ict + J7E W MES S0rEr)

(that) he would be back the next[following] day

BAMEO| 2Ysty Xek fsayltell + SX0{)(+that) + 301+ SAk
s

tomorrowe ZFHSHEIA the nextlfollowing] day= Hiz

PRACTICE TEST

A 1told 2if 3nottodrink 4itwas 5 whatyou
B 1 remember — to remember
2 would our table — our table would
3was it —itwas 4 if — what
C 1 my brother to take his umbrella
2 where he had bought that tablet
3 iffwhether] she had ever been to Hawaii
4 (that) he didn’t know how to play the guitar
5 (that) she would show him the pictures the
next[following] day
6 iffwhether] he had done something wrong

1 ftell+=X04,

2 QEAIL SlE SRR 7SO R et A| Fask(+ZX0]) +if
[whether]+F0{+SALL| 01202 &

3 BE YHE2 7IHSIHOR FEt Al don'tLt nevers QIO SAt
HEE not to-vE HE

4 QRAD} Q= SRR 7HHSIH o= TEt A| Fask(+SH0])+
QIRAHFO{+BALL| ooz &

5 QZAt U ZFHOI2R9| O TIZAH O +SAL

1 Y2l I M3k Mtelllask, order, advise S]+2%0{+

2 S2AD} QU= ORRL ZINEKIOR T Al Task(+2X0)+
OIZAH F0| + BALO| OfR 02 &
3-4 OI2APL Qi ZHRoIRR0] Ofz: TR AT 01 %r

4 7IEHOIZR0IM "PO'E SE5he Ql2At whato| =

I'

HYRO| IS MEk "telllask, order, advise S]+=%0{+

2 XIAICHEA} thise ZRSSHH0lIA thato2 =

3,6 2RAD} Si= SRR VISt o= M A| Task(+SH0])+
iffwhether]+Z0{+SALL| &2 &

4-5 HMEe| 7Pl T2k Tsayltell + SX0)(+that) + 301 +SAk

REVIEW TEST pp.118- 120

01® 02@ 030,® 04® 05O 06D 07
were, was 08 that, iffwhether] 09 had been, was
10® 11 @ 12 ® 13 not to make noise in the
library 14 where she could wash her hands 15 (that)
he wants to join the newspaper club 16 @ 17 @
18 1) iffwhether] she lived with her grandparents 2)
what her favorite song was 3) iffwhether] she could
play the piano 19 @, ® 20 ® 21 her sister would
go shopping 22 what | was looking for 23 (M)ost (0)f
(the (sltudents (w)ere (s)tudying (m)ath

01 S A2 FEO| AKIQL #AIS10] HRHAIMIE £20H
€D Jupiter ® =4 planet ® &4

02 AAMKFO|Z, -bodyE ELt= UHARE H= FFeiCt

03 @, @ 2AZAPL gl AREE 7IHstHO R X2t Al "H&ALif
Lt whetherg 2Lt DIFZEQ| Q17 T2k2 QIZHEAE X
X0l & HHEC

04 @ "2 EHEA)+Of+ BALE A0l SAS) 28 ARAIZICY



05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

34

® FHEO| AIMI7H 2t70| 1, Z&E0| T Z2 A™o|22
UANMIE L Tevery + ThBAH TESAL

@ FHO| M7t 2t70| 1, BLHO0| FHT Z2 AFo|2=
IHAIMIE £LL fthe number of +E+8AbL= 2] 29|
xogz, t= FFEI

® "a number of +EHALE ‘B2 ol Loz B4 FF
Sich

€ED lung cancer HY  gather ® Z0{ECt

@ SX0{(me)7t U1, 20| L5t 20|22 toldE 2L

® SIMol= X&El= S22 | AXIt ZAIRI0] SXHAIX
E £ 0k

the senior center ¥2#

SIEHE2 E40l2te t FFSICt

CED politics @ Fx[st

OI2AI} Sl SI2E0| ZFSHH: fask(+=280]) +iflwhether]
+F01+SAh

CED battery charger HHE{2| SX7|

AP AFE2 FHO| AXIQF 2AII0| et UHAKIE £L,
€D dynasty ® 2= found ® MZSICt

® FH20| 7HsH: "telllask, order, advise S]+2X0{+
to-va open — to open

@ MEEl= 2X0 AMIE FEO| Aol Skx 1= HReC,
can buy — could buy

@ st T2t Al ZislE ol 230 BMEY 22 saye= say
£, say toe= tell= HRECE E8t HAT|CHE I here= there
2 HRECL told — said, here — there

hand in & XI&EstCt receive © Tt

2 BEE2 EHOE Fet Al don’tL neverg glofi
SAFEEE not to-vE HRECH

QIZAIZL U= R E2 ZHHSIH o= Hat A Fask(+5X{0])

+2lZAH 0+ SALL| R R M, MER0f S Q1)

2 ANMIE LXIAIZICE

AANH A2 FEO| AX|2F ZAIGI0| TAHAIKIE 2Lt
compose @ Z=stct

SOl = XI&Els A2 2| AXIRE 2AIS10] SHAIKIE
£ 4 ok

1), 3) 2A2At Sl 22| ZHHSHE: Fask(+SX0]) +if
[whether]+Z0{+&At,

2) Q2At U= ClE 22 7RHskH: Task(+SX0) + 2l2AH
0+ SAL

@ "the +E8ALZt -8t AHE'Q| £ W= S FZBich
is — are

® AA2 FHO| AMIQL 2AIGI0] SIHAIKIE L0

made — makes
CED cheerful ® 225t physics @ 22(5t
disabled ® ZOHE 7121 remind © &7IAI7|ct

20

21
22

23

@ YA T FZSICL are — s

@ -thing22 EBL= tEAKE T FIZSich Are — Is
cigarette @ 2t harmful @ 22

ZFEO| AMI7t 20|22 Z=SALS] 2t74E wouldE £LF.
CIEAPL = QI2E2| ZHHSHA: Task(+SX0]) + 2|2+
01+ SAL

€D clerk ® (A2l B

"2&2 ®E(most)+of + BAL= FAH SAte] 5 XIAIZICE

CHAPTER

pp.122-123

Lk= BrianOl Ltofl7| ojop7 et 28 ZRACL

— Lt= BrianO| Ltofl#| ojop7 et s HE ULt
0| HA $Zi= SH0| M

— 0| MM = FE 20| Mt

L= Ofx| X[sHEolM JoeE RiC.

— Ofd| X[sFEollM JoeE & A2 HiZ LIACL
— LH7F OfH| X[sHEOIM 2 AHE2 HIZ JoeRrt.
— LH7} Oixl JoeE & X2 HIZ X[oHFHOIMACL.
— L7} X[sFEollM JoeE &2 X2 HIZ O{MIACE

G0 =te nf2t it

o

CHE A AR HIZ Anthony &L

(B

1

3 AEe BE EX7F #12 A2 OHUCE

Erica= /st ofod xiniRick
L= 221N ZFEIS ARBSIALL EXIZ 22 4 U,

doE 0188t SAt Z=: "do/does/did + SAH™,




last weekendZ =0t HHAIM[0|22 did2 SAH X
2 BEAMin Pyeongchang)s Zx8tit is/was ... that 4% 712

PRACTICE TEST

A 1 is David thatjwho] 2 was in March that
3 did take pictures

B 1 Neither 2 Not all 3 not always 4 None

C 1 Not every American 2 It was the high price that
3 None of us 4 do want 5 drawing, playing

1 =0{(David)g &=sk= it is/was ... that ZX 7222, 4=
StoXt SH= 20| ALY o that HAl whoE & & US

2 BARKin Maroh)% Zxsk= it is/was ... that Z= 72

3 AN SAS| BEE Tdid+SAHEES &

neither: ‘& Ct +-5kX| 24Ct (bothe| THIEH)
not all: ‘2% -1 242 ofLct (RELSXN)

not always: ‘g4t -0l A2 ofLct (REEH)
none: ‘OtR&= -5tX| QACt (allel )

AWM =2 m

not every: ‘B -1 242 OILIC} (FHEEH)
Z0{(the high price)E &=

none: all2| HHEH

SIXHAIN| SAER| ZE= "do/does +SAFE, S M0, 07t
EH0|22 doE &

5 ™oz 020Xl & Alnot only A but also B)oIA A%t B=
SHMoR EoU5t SEfQL TAS & THX|AHat)+ ETAL

MZ =X

A

1 HI7F LHRICE
=2 Hoil 2 YRI7E St UUC

@D 27t 9= 221k
2 4= 43 02 NS =22 HotX| =Lt
Joe= EXME 19| ZES =20l E2{UX| E=LC
L= LH7L ®MIE0]| 10kg =UCh= WS T5] THEX| ZRICL
3 ZME= AISS 0 o2t 0 M7 | FHCh

ZXol= it is/was ... that Z& 72

A O =N

pp.124-125

3 Lt= X0l ol=2f TGl 2401, — L= 2404,
L= =20l g&E Aol glof. — Lix= glol.

Alice= XFH0| =12 LEAMOF H|ZA Floi| 2T

‘1@ 2®

1 2H0(F)E Z=xsh7| fist EX(YESAP s B8): "280
(rarely)+do/does/did +Z30{+ SAFE,

2 TSO+SAHZ01;: (A Bt Zoil CHal) = st 2Ry, o 23
of SAKwrite)7t LS AtO| T SXHAIMIO|22 doE &

PRACTICE TEST

A 1 camethe sun 2 was hers 3 Neither
4 will she 5 did Eva
B 1 satacrow 2 does the department store close
3 have | watched 4 passes the boat
C 1 Neither has my sister 2 was a white tiger
3 Hardly could Stella believe 4 So do |
5 Never did | dream

5k HAO| HA(TE X517 | I8 =X MRANT) +SAH 04,
rso+%M+T0h (A Bt o] chal) = EE ey
Meither[nor]+SAH+F

X| edct

4 BEHO(F)E Lxs| I8 ZEX(ESAP U= 23): TEHo]
(never)+ =S AH+304,

5 BXO(T)E Z=oh7| Yt =X|(YESAL e 22 T2H

(little)+do/does /did + 301 + SAFIE,

w N =

= Zx517| ISt =X (=S
never)+ZSAHF04,

—

1 ‘neitherlnor]+&AH+301, (M &t 2ol chsl) = E5t T
X| QiCt. o Bl SAlo| ZEAKhave)7t 222 ZEAhas)

=2 M
=0



(hardly)+ ZSAH 2204,
SO+SAH 304, (kA St 2hof| thsl) -
o AL LEtSAL0| SHMAIMO|ER2 doE &
SH0{(T)E Y| I8t EXLSA} U= ) "2Ho]

(never)+do/does/did+F0{ +SAtEE,

REVIEW TEST pp126-128

0

lay a thick layer of dust.
| would get stuck in traffic.

h

boys

1

1® 02®@ 03® 04 ® 050n the bookshelves
06 Hardly did | expect that

07® 08® 09®@ 10
11 Neither of 12 None of the
14® 15@ 16O

19 @ did answered — did answer,

ave | thought of
13 Not all of the girls

7 18 ®

® writing — to write &= to sing — singing 20 are

three cups

21 are not always interesting 22 Little

can | imagine living without electricity.

01

02

03

04

05

06

07

08

09

36

FOIE YZxot=itis/was .
€ED run over (M- S22) It statue
2HE FollM (A S Zoll chal) = EFt JZCk k= 5
LIEME = "so+do/does/did /beSAt/ ZSAH+F0,E £
ch

chew ® At

@29 dide YRFSAK -2 3CH)o| LIHX = SAE
respect © ZZsict

@9 [t2 7150{0|1 LIHX|=
ito|Ct,

CED flea market HSAIE

. that 2= 72

AP ZZtAE
=c

S

itis/was ... that Z= 22|

TAE L= BATE ZX67| QI8 =XI: "REAHT) +SAL
+30{,& £t
€D thick ® T2 *x1S8t layer@ 2 5, A

lie ® (-l AleHol) ek, £0{ Ut (lay-lain)
bookshelf @ #3201, A7} (pl. bookshelves)
BHO(F)E ZZ617| st =X(YEESAD} U= 23): TRHo
(hardly)+do/does/did+701+SAtH,
stuck in traffic mS0] 9f3l
EEE FlolA (A Bt 2ol| chsl) = 5t JZX| fctek=
%2 LEM tie "neither[nor]+do/does/did /besAt/
Z2ZAH+F0,E 20t o 22| SATE LEESAL0| T DA
0|22 didE #ct.
‘OFRE WA gl=" A0IEE allo| HAHEHL
K| §iCh)S £Ct.

Not every comic book is useless.2

2l none('0tR=

£ £t not

10

11

12

13
14

15

16

17

18

19

20

21
22

0] 742 o

— AT

everys ‘BF - Of|Chek= Sto| RREHo|ct, mat

M none0| otL|2t noto| 2AoF S

useless @ £2¢l=

BHO(PE Z=s5h| fIgt =XI(=

(never)+ =S AH+Z04;

CED major ® (chHaHEo|) Mg

‘Johnit Lt & Ct OR2IES ZLUIX| 28 Z0|22 bothel M

MR neither('E Cf --5kX| §ICH)E 2Lt

none: ‘OtR& -+5tX| fACt (allel TAIEH)

CED cap @ (Bl Sis) =Xt

not all: ‘2% Q1 2 OfLICY (REHT)

@ THAH0|22 SAHcome) Lol didE WA Z=st

® "so+SAH+F04,: (A Bt 2ol chsh) = £S5 2oy

& 229 SAKthought)7t LEtEAt0| 1 THAIMI0I=E did

£ 2ch

CED rude @ It

BEXH(F)E dxo6l7| flst =X (=S

(never)+ZSAt+301,

itis/was ... that 2= 7122 4%

2t that Atolofl ELCt.

® FHoll 77t 2nlE = onlyE 25 M 4ol Mz F0
ot SAE EXISICE IAAKMOIT BESATL = 2EO|Z2
Tonly +did + 30 + SAFHH, 2| 04&0| ECt

| realized — did | realize

EED warning ® 21 pigeon @ HIEZ| silly @ 02|42

@ Bo2 0|20T! MM neither A nor B)oIM A2t BE 2

HHoz SUSH FYENR FXE 201

my car — in my car

@ "neitherlnor]+&At+Z01,: (A1 S Zoll chal) -

JEX] ¥
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pp.129 - 131
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17® 18 ® 19 1) | had a girlfriend 2) | got better
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that | have ever met 25 No other fruit is more popular
than apples

01  AHISAIR 01 havell X012t EX2 Bojo| #AL 5
0|22 22X H0{2 WHEAIS 2L}
€D washing machine ME7|

02 Zoy ‘AUejATt 2F0IS0] YA AU=XI'2k= 2|07t =of
OF XfHARRE 2 YHS LI = 2ARA howE 2Lt
€D native ® E=1, SIX|2]

03  AIGSAtlete] SX0it =X Hojo| #AI7t 5S0|122 =X
2 HolZ HPRYAE 20t

04 fif it had not been for ..., +7}1H atA=,2 FH| "0
+would[could/might] have v-ed,E #Ct

05 ZuE LE= 1=

06 Sy ‘THF --2iHH02k= Xo| RIS UEHN= TSAHIZH
2

o
fo| HIZt0j 2IOF SiCt. SHH, BAFES 0|1 FLAL ifis 2!
!

CED release © YOSt

07 BAHthe man)g FloIA Aloh= AT Aoll= "2 EAICH
HAHbesAL7H MEFE|0] QICtT & 4~ ULk

08 7A&E LIEtE Sixit=0]|10 71E Al™at & Mooz
since( O[2H2)Z &Lt

09 7Fg8 oA "If+ 30 +were / SAS| THHE, F0{+would
[could /might]+SAE,

10 shouldn’t have v-ed: “+-oFX| ZRA0{0F FH=H| (RHCH) (27
o Uofl st F3|Lt 72)
CED mad @ 0%k %07 S01) st

11 "withoutlbut for] ..., +7Fg B 2tE,; L20IM without
[but forl2 if it had not been forz HHY & 4= QAC.
€ED succeed ® H3sict

12 "BA0|[2] -stHzt="2k= 5229 no matter what2 £AE
£ 0|= S8 AT whatever® HHY & 4= QUL

13 feel like v-ing: “~5tal 2CF

14 plan2 SX02 toRYAIE L1

15 =g 2ASA however: ‘022 +5HH2HE (= no matter
how)

16 2APEA0ITR} B A0 ZoIE = FolA BALSE A
hill ® o1

o

.

I'

17 ® BHU(TE Zd=xo6h| 215 =X(LHSAITL e B2
r280{(never)+do/does/did +F0 + SAFE,
Never finished she — Never did she finish
CED on time &z{of|

18 @ BATES BHE 2At Yol notS £cCt
— Not knowing what to do
€D still @ =88k *SZ0IX| b=

19 I wish+7P38 oA Sx) Abat Bzl 22 AY
captain @ &%, *=%

20-21 ZFd3te Fet Al Kol 53 QIEHEAE HHLL SA=

AlM| 2x|ef g=lofl SHF HRRCE,

20 QURAPL U= o229 7Rt XMek Task(+=X0])+ 22AL
+3F0{+3AhL

21 CIZAPL Sle Q222 7HHstH XMet fask(+=&0]) +if
[whether]+ 301+ SAk

22 He was brought up by an old man.2& & += Ut &
Ao £SEll= SA THIE SHLte| SAIZ F01 FZEHh
bring up (0t0IE) 7I<Ct

23 not every: ‘25 -2l 22 OfL|Ct (RERF)

24 "the+zl&E(+that)+F0{+have ever v-eds KIZ7IX| -5t
W] & 7H ~8F

25 zMF0| =2 LIEt= "No (other)+BAH . +H|Z+than,

2t
o
2|

|

==

-

-

ax ol 22

ol =5 pp.132- 134

01@ 02®@ 03® 04@ 05® 06®@ 07
had, ended 08 don’t, every 09 (K)orean
(s)tudents (a)re (n)ot (a)lways (bJusy 10 @ 11 @
12 Since[since] 13as 14 @ 15@ 160G 17 ®
18 Being honest 19 Having finished 20 The man
told them not to bring any food into the pool. 21 @
had lost 22 @ 23 were 24hadhad 25® 26 @
27 1) more popular than 2) twice as common as 3)
the least common

01 49 HA a famous clocks Alstks 22 ‘E2l=0l2k=
+E0| 0|22 AHRA} calledE #rt

02 E9A 0|RE LiE= ZARA whyE #Ct

03 "though+ARd: ‘HIZ --X|F

04 BAEES oln= SF 2ACHBAL whichever: +-8k= 0= A
OlEXI

05 AIEHQ HE - 84S LiEH= 8APUI HOE M0|H toR AL
(to help)2l 2lol4t FOE Tof + EX 4,5 20,

y



06

07
08
09
10
11
12
13
14
15

16
17

18

19

20

21

22

23

24

25

26

27

38

used toBt £2LC,

€D pine tree ALIF  cut down (LIF S2) Hict
ARE LIEtHE= D=

not every: ‘25 -2l Z42 OfLIC} (R2EY
not always: &t Q1 Z42 ofL|Ck (REEH)
@ BACHBAZE TR EMOE AU o, MR ACHE
AP 20| S 42 O BACHHARE Marsr 4 Ut
o

AHSAIZ 201 haves 2x{2 H0{2 FHLSHAL TH2AL

£ 20t
T&A} since: - THEO - O[22
T&AL as: (SAlOf]) & uf; - 2ol

considering: & D2{otH’, -2 Lk’

HAHher eyes)2t 2At| EAI7t £S0|22 Twith +(CH) A+
HARAL: 0] ~E &

fit’s time + 788 kA, (OIA|) ---8HOF & molct

® ALS LE= SR /oAt Ee SxietE 21/
WARE TS 2L

was watching — has watched/had watched =
has been watching/had been watching

BAES HEAL S T S FAFEC| F01E H2fstn
SAIE SiIxHEAHv-ing)= HHYA BHECE

AP M7 FEL| AMEC FMBEE 27 EAE(having
v-ed)S £ct.

FH YIS SR TE A don'tE SlolT SAFREY
2 not to-vEZ HKZLE

@ LH7t SZ0|E ‘52 A=t "SI0l Zd0] of 0[F2] Yol
o2 a7 (had v-ed)S £ct

2712t @9 ifz -2IX[e] £o=, HAMHE 0|T1= FEA0|T

=
LHX= ZHES 0|nE HEALZ, Btk --2fH'e] S0|Ct
7F8Y A TIf+ 301 +were / SAt2| 1Y, F0{+would

[could/might]+SAHIE,

7P ofAERE: TIf+ 30 +had v-ed, £ +wouldlcould/
might] have v-ed,

@ "the number of +S¢BAbe -2 2 £ Tha F
st

® "the+&8Al= "8t AIHE' Q| 202 24 FFSICL
rapidly & 23t charity @ XHd x|

A AIZE &0l =0| LH2|7| AIRISHA SRl = =0] Lh2|a
ooz FxiA= ZEhs(have /has been v-ing)2 £ct

1) "H|@E+than any other +EBAle 2MF2| S22 LIEKHCE
2) "HiAt+as+ RF+ass o H HHE ~8H/SHAI

3) "the + AL/ 2AIL| ZlAg,: T -8/ SHAI



MEMO



MEMO



	1316팬클럽 문법(2023개정) L3-2 (01~19)정답
	1316팬클럽 문법(2023개정) L3-2 (20-40)정답

